Test Preview for UPPCS Online GS Test-4

HHY A

Question No 1

Marks: 1.33 Minus Marks: 0.44

'Dignity of Individual' is most appropriately assured by which word in the Preamble of Indian Constitution?

fe BT TIRAT Bl T Iugad T A IR H b Weg I A fbar mam g2

(A) Fraternity Si¢dT
(B) Equality §HdT
(C) Liberty Tac=rdl

(D) Justice =1g
Correct Answer Answer Description
A The Preamble declares that fraternity has to assure two things—the dignity of the individual and the unity and integrity of the nation.

W3 31 I RIepT 75 DT FN B S FYA (Fraternity) BT & IS BT ST FAT G- AfGRT P TIRET T A BT THal MR SRS

Question No 2

Marks: 1.33 Minus Marks: 0.44

Which of these bodies does NOT take participation in legislative council election of a state?

T A HH-T1 T et 5T & faer uftwe gAma & 4 i Aar 87

(A) Members of Lok Sabha e U & I

(B) Members of legislative assembly faem g *W

(C) Members of local bodies R Tl & T

(D) Teachers of secondary school H1eAfEh TRl %ﬁr&@

Correct Answer Answer Description

A Of the total number of Members of the Legislative Council, 1/3 of Members are elected by electorates consisting of the Members of Local
Authorities, 1/12 are elected by electorates consisting of graduates residing in the State, 1/12 are elected by electorates consisting of
persons engaged in teaching, 1/3 are elected by the Members of Legislative Assembly and the remaining are nominated by the Governor.

ot =g 1 e aRve & Tewil & oo T B 3 1/3 UeRi & WG FERl & 9ewl g1, 1/12 I&R 31 o4 § Haiiid @de! gRi,
1/12 Tewi o Rt (reafie faaraat ¥ orgr wR & Rigdh) gRT auT 1/3 Tt &1 Ay a1 & Y= gRI A1 STl 8, Safes A 1/6
eI Y ISTUTE GRT A o S 1

Question No 3

Marks: 1.33 Minus Marks: 0.44

Which of the following urban body has no elected members?

Fefifad 3 @ feg el Fen § o1 RAeifd gew Td darg?

(A) Municipal Corporation TR fm

(B) Township <13+ 3

(C) Port trust U= =ard

(D) Cantonment Board EICEIEIS]

Correct Answer Answer Description

B Townships are created by the large public sector enterprises for its staff and workers near to the plant with all civic amenities. A town

administrator is appointed by the enterprise to take care of the administration of the township. He is assisted by some engineers and
some other staff. The township form of urban

Government has no elected members.



TS gdi® &7 & Il grR1 o wrdwAe giaerst & Ty W4T & U 3 SHeIRal 3R HiHw! & T IUTR ST 91 § 1 SUTR
(TSR & TR P U PR b (o STH gRT TR YRS Fgad f6a1 Sa1 81 3= 50 SifiEidrei ik $3 o SHanial gRy
FERICT e B O] § | TEd TRBR P TSRIY TRey § SIS el e Tel ghar gl

Question No 4

Marks: 1.33 Minus Marks: 0.44

Which among the following was the first municipal corporation set up in India in the year 1687 ?

Fuff@d & @ wH-91 yRa & 1687 S, & wiftd fbar mar ugar TR R ur

(A) Madras Municipal Corporation g TR fmm
(B) Bombay Municipal Corporation\ S| TR
(C) Calcutta Municipal Corporation Tl TR o

(D) None of the above E'q?i?ﬁﬁ?ﬁ'apq—@pf

Correct Answer Answer Description

A Municipal government in Modern India has been in existence since the year 1687 with the formation of Madras Municipal Corporation
and then Calcutta and Bombay Municipal Corporations in 1726.

3y URd & 1687 <. B Igr | vgdn AR i R fosan man o1, s a1 1726 <. § e iR faeel R fmt ot v g8 2

Question No 5

Marks: 1.33 Minus Marks: 0.44

The Right to contest elections to the Lok Sabha and the State Legislative Assembly is a :

T THT 3R Y™ THT & o T1a e o1 PR B, U :

(A) Fundamental Right Ot 3ifiieR

(B) Constitutional Right Faeres SfierR
(C) Statutory Right Fifafde® iReR

(D) None of the above B'Cﬁiaﬁ b ﬁ'ﬁ TEpf

Correct Answer Answer Description

C The Right to contest elections to the Lok Sabha and the State Legislative Assembly is neither a fundamental right nor a constitutional
right but a right conferred by the Statute.

e THT 3R A T & for gTa e &1 iR 7 ot Aiferes e & iR 7 € auife ifieR, sfer T8 e Tifaftie sfier &

Question No 6

Marks: 1.33 Minus Marks: 0.44

Which of the following fundamental duty was not inserted by 42nd Amendment Act, 1976?

Frfid & H-91 Ja Bdod 429 YA T=Ned 1976 GRI 81 Siigl T

(A) To uphold and protect the sovereignty, unity and integrity of India. Wﬁ;ﬁ;{w, T AR RIS BT & AT 3R I S{EUUT XGT|
(B) To value and preserve the rich heritage of our composite culture. mmwﬁaﬁ1 PERII] TR ST HEd JHSAT aﬁ?muﬁ?&mml
(C) To defend the country and render national service when called upon to do so. =T P T HRAT 3R &mmaﬁmﬂgﬁwamw

(D) To provide opportunities for education to his child as a parent or guardian between the age of six and fourteen years. TTaT-forT 1 TRefd g1 6 9§ 14 99 b B
AT AT S0 Tl B FRI&T & SR SUA BT

Correct Answer Answer Description

D A, B and C are correct because they were inserted by the 42nd Constitutional Amendment Act, 1976 when Fundamental Duties were
made a part of the Constitution. However (D) was added later vide the 86th Constitutional Amendment Act, 2002.

o A, B 3R C & ga Feat B 423 WAy =i sififvem, 1976 I 2nfire fsan man, wafes g wdal o Jfu & ugeh aR wnfia
T3 T 11 BTG fade D &1 4d Hdod a1e | 863 HauTe =iy ififam, 2002 GRT SieT T

Question No 7



Marks: 1.33 Minus Marks: 0.44

Which of the following is not a feature of Directive Principles of State Policy?

fofefed ¥ oH-3 te Isa A F Fee 7t 3t fadvar T8 82

(A) Justiciable in nature g ‘:@ﬁ

(B) Aim of justice, liberty, equality and fraternity =7, Eaci=Idl, THFAT 3R WWB@'@[
(C) Concept of a ‘welfare state’ HAUGRI T D e

(D) Fundamental in the governance of the country ¥ T I-faf & o

Correct Answer Answer Description

A The Directive Principles are non-justifiable in nature, that is, they are not legally enforceable by the courts for their violation.

I i & T dal 31 vpfa TR-amara § srufd 399 Sooe ot Rufy & 3 mredt gR1 faftie =0 9 vad=ia T 8|

Question No 8

Marks: 1.33 Minus Marks: 0.44

Which of the following is NOT a socialistic principle contained in DPSPs of Part-IV of Indian Constitution?

Frofeied &  $H W F UFT-Iv & Igd sy Ay S e awl & garard) Rigia 78t 87

(A) Right to adequate means of livelihood for all citizens it ARl Y SHfdeT & Tait TIeE U $Ra &1 ISR

(B) Equal pay for equal work for men and women anw%wsﬁaﬁwmésmwém

(C) To promote equal justice and to provide free legal aid to the poorWﬁWWQﬁﬁﬂc—ﬁﬂﬂTﬁm

(D) To prohibit the consumption of intoxicating drinks and drugs which are injurious to health Wﬁ"ff eﬁ?W%ﬁ«maﬁm NSRRI & U BT Ufesy

Correct Answer Answer Description

D To prohibit the consumption of intoxicating drinks and drugs which are injurious to health is a Gandhian Principle.

e 03T 3R TRy & 1T gies SNwiREl & SuwiT &1 ufasy e midiard! Rigid g

Question No 9

Marks: 1.33 Minus Marks: 0.44

In India government provides pension to disabled, old-aged and sometimes to unemployed people. Which constitutional article confers it as a duty on the State?

URA & WHR 21, 75 3R F-F2ft SRISTR afekral &1 U2F ver X 81 75 Gawnfie srfee & ded 9 I &1 Hadd A 41 87

(A) Article 39 3G 39
(B) Article 41 3fI&5¢ 41
(C) Article 38 3G 38
(D) Article 43 3G 43

Correct Answer Answer Description

B Article 41 of the Constitution of India directs the State to provide assistance to its citizens in case of old age, sickness and disablement
and in other cases of undeserved want within the limit of its economic capacity and development.

HRAT TR BT 30 41 o B MW a1 § b a8 o anfifes aredf Sik fepra &t dimnali & iR, o o &, Rien um & 3k
YHI, ForuT, TR SR F-<1aqdr quT 3T 3FE 3UTd B1 =S W i gl U & IR B U IR BT T Juse H |

Question No 10

Marks: 1.33 Minus Marks: 0.44

Maternity Benefit Act 1961 was passed to give effect to constitutional provisions contained in :

T ar ifAfaw, 1961 s dea i Hau=e wrayri & guTdt 59 3 forg uifed fasar mar are

(A) Article 39 3¢ 39



(B) Article 41 3fWG 41

(C) Article 42 3T 42

(D) Article 43 3G 43

Correct Answer Answer Description

C In India, Article 42 of Indian Constitution contains the directive that the State shall make provision for securing just and humane

conditions of work and maternity benefits. In order to regulate the employment of women in certain establishments for certain periods
before and after childbirth and to provide for Maternity benefits and certain other benefits, the Indian Parliament enacted the Maternity
Benefit Act, 1961.

YR Ty BT e 42 §R1 98 IR § 3 350 o 3t e oiR A genel & gifid #=a & forg aun vl wemar &
for sy X1 T F ST I F o & U 3R a1G &1 iy srafiat § nfgamsit & Suroeredt # JAsR Y fafafia s aur wfa
ATH TS 3 T T UG PR & T HRAT S g1 T[T a1 A1 A ififam, 1961 sifdfafia fovar

Question No 11

Marks: 1.33 Minus Marks: 0.44

Match List - | with List - Il and select the correct answer from the codes given below :

List - | List - 1l
(Article) (Subject Matter)
a 86 1. Right of President to address
’ and send messages to Houses
b. 85 2. Sessions of Parliament,
’ prorogation and dissolution
3. Qualification for membership
c.84 .
of Parliament
d 83 4. Duration of Houses of

Parliament

-1 R -2 1 gHferd Fa g AR T T e § uet fawed 1 g -

TaA-1 -2
(3T®9) (ERECEH
1. A5 1 HeH! H U0 BT 3R IFHT
286 SERRCE R DEar
b. 85 2. 499G & 9, T T fqued
.84 3. TS P GERIT F o organ
d.83 4, 99E & HeAl BT @y
Codes:

(A)1234
(B)2143
©3142
(D)4321

Correct Answer Answer Description
A Provisions related to Union legislature:
Article 83 Duration of Houses of Parliament
Article 84 Qualification for membership of Parliament
Article 85 Sessions of Parliament, prorogation and dissolution

Article 86 Right of President to address and send messages to Houses

el faeiieT Heith araur :

TG 83 - TG & Fel Bt 3afy
ITWass - T P Fewdl & g s
3THE 85 - UG & T, GAGHH U faged

TG 86 U BT FeA | SHFHTI BT 3R IT! Y= oM BT SRFR|



Question No 12

Marks: 1.33 Minus Marks: 0.44

Who do not get included into electoral college of the President?

Fafefead & o wgufy & g1 8g Fafae Hea # i 781 g o7

(A) The elected members of both the Houses of Parliament TOE % S e & fHaffad gew

(B) The elected members of the legislative assemblies of the states Al Bt faem H*ﬂﬁ%ﬁafﬁﬂw
(C) The elected members of the legislative assembly of Delhi ot faeum wwn & faffad wew

(D) The nominated members of the state legislative assemblies ey faem mnaﬁﬁmh'ﬁﬁam

Correct Answer Answer Description
D The President is elected not directly by the people but by members of electoral college consisting of:

1. the elected members of both the Houses of Parliament;
2. the elected members of the legislative assemblies of the states; and
3. the elected members of the legislative assemblies of the Union Territories of Delhi and Puducherry

HRT T IPURI BT Ue FU I 1 gRT g1 g1 1, Sfeep T afad ded & gew! gR1 g1 ol &, o Fafafed i@ g g :

1. TG & G Tl & Maffad gew|
2. 0 Bt faem gHeh & fFaffad Tewi
3. Hoia ye e feee qur ggast @ faum qurstt & fFaifa gaw

Question No 13

Marks: 1.33 Minus Marks: 0.44

Which of the following is NOT a qualification for the office of the President?

ol & 3 w1 puf ue & o srewee srarsft # =i e 8

(A) He should be a citizen of India. 98 YR BT ANRS &)

(B) He should be less than 70 years of age. dg 70 af J A Gﬂﬁﬁfﬁ

(C) He should be qualified for election as a member of the Lok Sabha. %WHWWWW@%%W 31%?[63[
(D) He should not hold any office of profit under the Union government agéﬁ'wr\fﬁwuamawqa’r

Correct Answer Answer Description
B A person to be eligible for election as President should fulfil the following qualifications:

1. He should be a citizen of India.
2. He should have completed 35 years of age.
3. He should be qualified for election as a member of the Lok Sabha.

4. He should not hold any office of profit under the Union government or any state government or any local authority or any other

public authority.
HIs AT HRA 1 AgUfr Fafferd g9 &1 ot a+i grT e J8-

1. 98 HRd HT AFIRS &l
2. 9% 35 ¥ @1 31 qUf % YT B
3. 98 TP HI B Few Faiid 81 & e afida 8

4. 98 HRd RBR F T7 {5 I50 WBR & 31EiT 31yaT Iod BRI | el & P & ot =it ar s Wikt & 31efie &g

AIY T Ue, 7 YR Ha &l

Question No 14

Marks: 1.33 Minus Marks: 0.44

Who was the 5th person to be elected as the President of India?

Frafefed # 9 ®1 ag 5d safek €, S WRd & APl & U # g4 0

(A) Fakhruddin Ali Ahmed THESEH 3fall /@HG
(B) Dr. Zakir Hussain 3l GT@T{E@:T
(© V.V. Giri gt Rk



(D) N. Sanjeeva Reddy T. Toila Xg!

Correct Answer

A

Answer Description

Fakhruddin Ali Ahmed was elected in 1974 as the 5t president of India.

HETE el SgHE aY 1974 H HRA & 59 (el SFIHR) YU I 7Y

Question No 15

Marks: 1.33 Minus Marks: 0.44

Which of the following is not included in the Oath or Affirmation by the President at the time of assuming his/her office?

PRI GRT SO IS TG0 B GHI o S aTelt T a1 ufawe § FHafefed & 3 war wnfia 78 g o7

(A) To faithfully execute the office 4GTYdH YUl UG BT BRI BT

(B) To defend the Constitution and the law RICUIC) sﬁ?ﬁfﬂwuﬁwmm

(C) To devote himself to the service and well-being of the people of India. YR S a1 Bt JaT @TWﬁﬁTﬁ?ﬁTﬂ
(D) To maintain secrecy about the business of the union government % IRHR & HTt Pl MoTgar T TG

Correct Answer

D

Answer Description
Before entering upon his office, the President has to make and subscribe to an oath or affirmation. In his oath, the President swears:

1. to faithfully execute the office;
2. to preserve, protect and defend the Constitution and the law; and
3. to devote himself to the service and well-being of the people of India.

The oath of office to the President is administered by the Chief Justice of India and in his absence, the senior most judge of the Supreme
Court available.

RTYOFI GRT 3071 U TU & ¥ T oft T aret =g a1 e # e gian g o -

1. HETIP TP UG BT SRIUTA B
2. e SR aft o1 uRRer, WRemr 3R ufaRem &

3. YRA B ST BT JaT 3R Hearor J FRa g

HRA & IPU I UG B A0, IHATH AR S {3 AT gRT A1 S9! SFIURUTT H I Irirerd & Juds IRYTH i gR1
foams et 21

Question No 16

Marks: 1.33 Minus Marks: 0.44

Which of the following is an archaeological site of UP?

Fufiad & I $H I U HT Ud RIS RId &2

(A) Sanauli, Bagpat District R, ImTUa forer

(B) Mandi, Muzaffarnagar District Hal, JHhATR fora
(C) Bargaon, Saharanpur District $TTd, Wﬁrﬁ“ﬂ
(D) All of the above SUgad Tt

Correct Answer

D

Answer Description
Important Harappan Sites in Uttar Pradesh

® Sanauli in Baghpat District
* Mandi (Muzaffarnagar district)
® Bargaon (Saharanpur District )

Y IR U P UHE ST R &

o TG, IFTUE e
o T3, GIRRAR fora
o TG, ERAYR fora

Question No 17

Marks: 1.33 Minus Marks: 0.44

What was the score of UP in Niti Aayog's School Education Quality Index 20197

Fifey ST 3 el e U YEwhier, 2019 T IR UG BT 3T TR 87



(A) 26.4%

(B) 36.4%

(C) 46.4%

(D) 56.4%

Correct Answer Answer Description

B According to Niti Aayog's School Education Quality Index 2019 ,among 20 large States, Kerala was the best performer with a score of

76.6%, while Uttar Pradesh came in last with a score of 36.4%.

fifar 3maiT & el e ToraR GEdic, 2019 b 3IER, 20 TS Aol H B BT UG I (TBR 76.6%) T, Ta{h IR U (PR 36.4%)
T Fed TeH W R

Question No 18

Marks: 1.33 Minus Marks: 0.44

How much annual assistance to the triple talaq victims will be provided by the UP government as per official announcement of September 25, 2019?

25 TIdeR, 2019 B IR UG IHR GRT R SATRIBIRD DYUTTIR, HH-dee Hfegd afgansit & fbd=t affes agraar Ay < s

(A) Rs. 5000 . 5000
(B) Rs. 6000 ®. 6000
(C) Rs. 9000 %. 9000
(D) Rs. 12000 *®. 12000

Correct Answer Answer Description

B The Uttar Pradesh government would ensure Rs 6,000 annual allowance for victims of the banned practice of instant triple talag, besides
providing the needy ones among them with housing facility and the means to earn their livelihood.

FR U IHR UASfId debTet diH-aenes o difed Afgensit o1 6,000 5. BT aTfties TgTaar AR UG T a1 T1Y & 378 § SRexawal bl
ST AT TAT ST STSTIDHT o Are 2t Jues HIT S|

Question No 19

Marks: 1.33 Minus Marks: 0.44

Which organization recently launched 'C-Plan' application?

B1a 8 B - Tt &1 YURY g e gr 3 mare

(A) UP Police gt gferd
(B) UP State Road Transport Corporation ELtﬁ. g Hgh Uﬁ'ﬁ’ﬁ:f o
(C) Lucknow Metro TGS Tgt

(D) UP Secretariat q\.\'ﬁ. Tferaraa
Correct Answer Answer Description
A The Uttar Pradesh Police has launched a "C-Plan" smartphone application that will help them keep a tab on anti-social elements to

counter their nefarious designs in time.

BT €1 A ITR U Yfer gRT - A W B TR YRY e ma B, S i gferd &) sramiiie dadl ) aférd aR Iet R
P 3R 3% TAd Pl BT ABYT W TR B

Question No 20

Marks: 1.33 Minus Marks: 0.44

National Tribal Festival “Aadi Mahotsav 2019" was inaugurated on 28th September 2019 at :

28 fydeR, 2019 1 AP ST Heleqa "3 Heleda, 2019' BT YHRH Pei e mare

(A) Jhansi it
(B) Lalitpur m

(C) Sonbhadra g



(D) Noida -TTST

Correct Answer Answer Description

D Aadi Mahotsav (Tribal Festival) organized by Tribal Cooperative Marketing Development Federation of India (TRIFED), Ministry of Tribal
Affairs went off to a colourful start on September 28, 2019 at Expo Centre Sector-62, Noida (UP).

28 RrdeR, 2019 B By SISy [T HATerd qUT SIS HedbR AU faesr e gRT ST ST Sl #e e 3Mie Agled,
2019" BT IR YURY THT! Fer, LSt (W v H fovar man

Question No 21

Marks: 1.33 Minus Marks: 0.44

Which wildlife sanctuary is known for the different species of turtles, Ganges dolphin and other water animals?

e & FH-91 ageita rvaRg By el ot fafte yonfaa, T Sifes= aur o wefa shat & ferg ufirg 82

(A) Kachhua Sanctuary @31 JHIRTY

(B) Kaimoor Sanctuary 3711'{ HYIRTY

(C) Katarniaghat Wildlife Sanctuary FHRMAATIIE FHoNd FHIRTG
(D) Kishanpur Wildlife Sanctuary ﬁ?w TG HIRTY

Correct Answer Answer Description
A Kachhua Sanctuary of Uttar Pradesh is famous for the

Different species of turtles, Ganges dolphin and other water animals. Hence, A is the correct option.

IR T BT HZAT HUTRUT Hgaft 1 fafdra gemfey, 7 St aut s Srefta sfiat & foe ufire 1

Question No 22

Marks: 1.33 Minus Marks: 0.44

Wild-life sanctuary that touches the districts of Amroha, Bijnor, Ghaziabad, Meerut, and Muzaffarnagar in Uttar Pradesh?

Fufafad & SH-91 3=ela IR IR USR & SERIGT SR, Mirarare, BRe auT GouhRaTR fora &) wo=l $dl 82

(A) Kachhua Sanctuary @31 JHIRTY

(B) Hastinapur Wildlife Sanctuary Bm@?ﬁa STHIRTY

(C) Katarniaghat Wildlife Sanctuary HARMITITE IS HHIRTG
(D) Kishanpur Wildlife Sanctuary ﬁ?“\fﬂgﬁ FIG YR

Correct Answer Answer Description

B Hastinapur Wildlife Sanctuary was founded in 1986 and named after the ancient city of Hastinapur. It is located in the parts of Amroha,
Bijnor, Ghaziabad, Meerut, and Muzaffarnagar districts of Uttar Pradesh. Hence, B is the correct option.

BRATQR g=eila I Bt RITTAT 99 1986 H @1 71 2ft, St SRAATGR A1 UIiF TR & 91 WR 71 98 SR WS & SARIET, feHR,
MRS, BRS qUT olRhRATR ol & & H sfafed 1 o faded B I8t ST B

Question No 23

Marks: 1.33 Minus Marks: 0.44

At which place the Pai Danda dance is performed in UP?

TS ST 7, SR U & by &1 A vaifera 37

(A) Purvanchal region tﬁhﬂ aa

(B) Terai region ?‘Rﬁ 33—7[

(C) Bundelkhand region W’S’ aa
(D) Western region TfgeR f?ﬁ

Correct Answer Answer Description

C Pai Danda' dance is performed by Aheer community of Bundelkhand.

TS ST 7, YAWS &7 & SER TS gRI {51 ST 71



Question No 24

Marks: 1.33 Minus Marks: 0.44

Modu Khan and Bakshu Khan propagated which art form of Lucknow Gharana?

g I T B H §RI TGS, IR B bl el o1 U8R fobar T

(A) Kathak YD
(B) Khayal HTT
(C) Sitar performance RIAR
(D) Tabla performance ddcl

Correct Answer Answer Description
D The main gharanas of tabla playing are Delhi, Lucknow, Ajrara, Farrukhabad, Benaras and Punjab.

Lucknow gharana branched out of the Delhi gharana, and was said to have been started by brothers Modu and Bakshu Khan.

YRT § T dTEH Bl & THE TRM e, TS, SORRI, HHEETE, SIRY 3R U § | Tl aIeH & a@-s, TR 31 I fecd R
g, O < w1ga Hig W STR S A gRT URH {31 771 A1 9T 31

Question No 25

Marks: 1.33 Minus Marks: 0.44

The provisions of which of the following colonial era Acts are inspired deeply by the liberal and utilitarian philosophy of Bentham?

3NufaRie B o Feifad § § SiF-91 Afuw sum & Ierard! td IuAfdmar) a3+ & e+ &0 3 aRkd ur

(A) Regulating Act 1773 TgQfeT Tae, 1773
(B) Pit's India Act 1784 firew $fEar Tae, 1784
(C) Charter Act 1813 TIER TG, 1813

(D) Charter Act 1833 dTeR Uae, 1833

Correct Answer Answer Description

D The liberal and utilitarian philosophy of Bentham was made popular by the provisions of Charter Act of 1833.

1833 HT AR AT S & ISRaATE! Td ITRIATaTd! a3 & 8= w0 J IR o1l

Question No 26

Marks: 1.33 Minus Marks: 0.44

Which Act categorically stated "that no native of India, should be disabled from holding any place, office, or employment, by reason of his religion, place of birth,
descent or colour"?

g sifafam o ug Ty urgu™ o1 f& el ot urdia Arifive o Sa% o, 71 =i, Safyy siar 1 % SR WR st ue ot e @ dfvra w6 fvar o weeme

(A) Indian Councils Act 1861\ YRt TREE IAFTH, 1861
(B) Indian Councils Act 1892 HRcd URwg sififam, 1892
(C) Charter Act 1813 TTeR 3ifdfad, 1813
(D) Charter Act 1833 TR 3ffIfNTH, 1833

Correct Answer Answer Description
D Following were the important provisions under Charter Act 1833:

(i) The English East India Company ceased to be a commercial agency in India. In other words, it would function hereafter as the political
agent for the Crown.

(ii) The Governor-General of Fort William was hereafter

called - The Governor- General of India. Thus, Bentinck was the first Governor-General of India’.

(iii) A Law Member was appointed to the Governor-General’s Council. T. B. Macaulay was the first Law
Member of the Governor General-in-Council.

(iv) The Act categorically stated ,that no native of India, nor any natural born subject of His Majesty,

should be disabled from holding any place, office, or



employment, by reason of his religion, place of birth, descent or colour”. It was this enactment which laid
the foundation for the Indianisation of public services.
TR SifRfem, 1833 & dgd Fuforad wie wraem 3 -

0] 3% T HUR g URA T U anforfouds Toieht -Tet X8 S| g Xee B, 3 31d ffewr 1 & woifae Teie & w0 § Sl vl
|

(i) BIE Aferam (@ Tel) BT TTa-R SR 3d YR 1 TTG-R SR &1 {301 7T | 39 UPR dfedd YR BT Ugdl -k SRa 11
(iii) TR SR @1 IRue H e At Gaw &1 enfiret foman mam1 39 uRwe &1 ugen fafy Iaw daft. Aera M

(iv) 39 e & g8 Wy mrau forar ma 6 el o yRdia & 39 o, 57 =M, Iafy Sruar aul & syR W B ue a1 AR
 dfra e fovar Se | aRga: S A URA B Al Garsit & URAHR & Hiig 3@ |

Question No 27

Marks: 1.33 Minus Marks: 0.44

In the context of colonial history of India, Colonel Sleeman was related to which of the following achievements?

YRA & N3l 3faer & T # Fufifea 7 ¥ fog onf ¥ od wie- Jeg &2

(A) Suppression of Afghans S & GHA o

(B) Suppression of Pindaris e s e a

(C) Suppression of Thugs MBI Y

(D) Suppression of Pagalpanti uprising UFTaU} fagE & gr &

Correct Answer Answer Description

C A campaign was systematically organised by Colonel Sleeman from 1830 against the thugs. During the course of five years nearly 2000 of
them were captured. For his role in the suppression of thugs, Sir William Sleeman was known as — Thugee Sleeman.

3 & 3¥g Poict WHH 7 1830 3. H AR =0 I M TR {511 5 98 & SRM I8 J TIHT 2000 TN &1 TRUAR H= ferar |
B & gHA W 3BT YfAHT P AU Hrict e o1 ‘371 e & 8 J o ST S am

Question No 28

Marks: 1.33 Minus Marks: 0.44

Which of the following was not associated with the tenure of Lord Warren Hastings?

Frofared & 9 31 9k ofe™ & Sriea ¥ Gafia Tal ur

(A) Abolition of Dual System 24 Tt @ SHAT
(B) Establishing Board of Revenue &—W@I@Pﬁw
(C) Appointment of English Collectors in each district TS forar o fafe Wﬁﬁgﬁr

(D) Abolition of Accountant General ThI3cc S-Rd UG Dl ST

Correct Answer Answer Description

D During Lord Warren Hastings tenure: Dual System introduced by Robert Clive was abolished. Board of Revenue was established at
Calcutta to supervise the collection of revenue. English Collectors were appointed in each district. The treasury was removed from
Murshidabad to Calcutta and an Accountant General was appointed. Calcutta thus became the capital of Bengal in 1772 and shortly after
of British India.

WS AN ST & HRIBIA B SR IaC AT GRT URY F¢ W JUITE BT 3id 31 71 IIod WIE b THAE0 g Bl H IoRd a1
@IS 3t Ya=g) &1 RTAT g5, U ot 7 3 daiaex g e g Ieu-o1y (Sor) &1 giRiarare I seisl 9/ T aYT T Thrdee
TRT B! Fgfad 31 T1E; 3R HaAdaT 1772 3. F STd B qUT TP I1E (S HRd BT IsTd= &4

Question No 29

Marks: 1.33 Minus Marks: 0.44

Which of the following pairs is/are correctly matched in the context of Sangam period?

T Ha & doo & Frafafed 8 9 H-u1/8 3w ue gl 3727

(A) Tirukkural - Thiruvalluvar fedgRe - fasdegaR
(B) Silappathikaram - Elango ﬁmﬁwm- e



(C) Manimekhalai - Sithalai Sathanar HfOMREd - Riddt Te-R
(D) All of the above IUgad Tt

Correct Answer Answer Description

D Sangam literature is the name given to the earliest available Tamil literature. It is dated between 400 BCE and 300 CE, although most of
the work is believed to have been composed between 100 CE and 250 CE. The word ‘Sangam’ literally means association. All of the above
belong to Sangam Period.

Iufad T g T I § et SR gAferd ¥ | ST i TTeian Suds afte Wifee b & T A 71 ¥t 79 400 3. 9, F 300
£ 09 g%, gTaifes S0 § SHIHTRT T GG 100 H 250 3. F Ted [T S § | I Xeg 1 RMfeas o qur A g

Question No 30

Marks: 1.33 Minus Marks: 0.44

The devadasi system emerged during the period of :

SR T BT Igva Fafarad # ¥ feg &ra & gam

(A) Cholas of Sangam Age E"Tﬂﬂ'ﬂa’?%m@

(B) Cholas of 11th century TIRGd! JdTsd! & ATdt T &
(C) Vijaynagar Period [EEREURCINE]

(D) Pallavas of 8th century 334l TdTed! & Uced HId

Correct Answer Answer Description

B Devadasi system had genesis during the Cholas of 11th century in Southern part of India.

aerf uyT BT IGHT STR0T URd F 113 wared) €. % SR Hid T § gal

Question No 31

Marks: 1.33 Minus Marks: 0.44

Which of the following was not a cause for the decline of the Mauryan empire?

Fafifea & 9 o1 91 9T & U 61 T HRUTAET U1?

(A) Asoka's policies and his weak successors mﬁﬁm@mwmﬁm

(B) Asoka's pro-Buddhist policies 3iie B! dig Frd® =ifaat

(C) Policy of non-violence reduced the fighting spirit of Ashokan army sffgamare! Hifd & HRu mﬁ@mﬁﬂ&' YT &1
(D) None of the above G'q?iaﬂﬁﬁé:ﬁﬁ

Correct Answer Answer Description
D Causes for the Decline of the Mauryas:

1. Asoka's policies and his weak successors.

2. Inadequate political and economic institutions to sustain such a vast empire.

3. It was said that Asoka's pro Buddhist policies antagonized the Brahmins who brought about a revolution led by Pushyamitra
Sunga.

4. That Asoka's policy of non-violence reduced the fighting spirit of his army was another charge against him.

5. Weak successors, partition of empire and administrative abuses after Asoka's reign.

T 91 % U % THT BRUT S TPR &

1. 3N B Aferdl Td IHP HHGR ISR |

2. fa=a arETSg &1 Wi d X ¥ g st oifae ud snfdie |

3. T8 YT 1T § b 3r<iiep &l aig ~ifaral & RO STeron SRy deT 31T iR Tsafi Y & Aged o 314 fasie fvan|
4. ifggrare} et & R =B B AT H G W B HH ST, S=Meh TR A ATl Ueb 34 RT3 |

5. 3R F RABIA P IWId FHGAR IJTRIAGRY, ATHTT BT fauTer iR TRmafies geuanT ff R |

Question No 32

Marks: 1.33 Minus Marks: 0.44

"It was one of the earliest works to explore both the diversity of religions and a unity of Islam and Hinduism and other religions.” In the quoted text which medieval
Indian literary work is being referred to?



g Y Y fafayar qur 3xam wd g v oiik s ot o) e QR &7 udt @M ¥ forg et st o 9 e Ut
ST U 5 ATl HRa THae B ahia 37

(A) Sirr-e-Akbar ﬁlf—H-GlW

(B) Khazain-ul-Futuh W&Sg1-3d-H e
(C) Majma-ul-Bahrain nm-sa-asﬂﬂ
(D) Tabkat-e-Nasiri TeebTd-T-ATRRY

Correct Answer Answer Description

C Majma-ul-Bahrain is a book on comparative religion authored by Dara Shukoh. Its Hindi version is called Samudra Sangam Grantha. It
was one of the earliest works to explore both the diversity of religions and a unity of Islam and Hinduism and other religions.

ToH-3A-IT SRT RiepTe gR1 I Taes 8, e el &1 qaierss S1erg 71 30T f&el TUiaRUr g T8 Jy' M J 31 I8 o
fafderar qur 3%am wd g o ofR o il &) T 1A T et T ¥ fore URfYes Tl 7 § Ue Al

Question No 33

Marks: 1.33 Minus Marks: 0.44

Who was the director of the famous Hindi feature film "Mughal-e-Azam", considered as the magnum opus of Indian Hindi cinema?

YR Rt R &1 7em $ia et S arelt wReard ) wieR fbet oe-u- oo & e (SrReae) S 47

(A) Bimal Roy famra 1

(B) K. Asif &. 3%

(C) Satyajit Ray BUEIRES

(D) Balraj Sahni Wm:ﬁ

Correct Answer Answer Description

B K. Asif, born Asif Karim, was an Indian film director, film producer and screenwriter who was famous for his work on the Hindi/Urdu epic
motion picture, Mughal-e-Azam.

¥, 3R (3R H8m) Rig wRda b Fmiar, A 8k dekur das 31 317 agafia e /3¢ fhet grre-u-sied &1
= fopam i

Question No 34

Marks: 1.33 Minus Marks: 0.44

With reference to Gaya session of the Congress in December 1922, consider the following statements :

1. C.R.Das presided over Gaya session of Indian National Congress.
2. Motilal Nehru resigned from the secretaryship of the Congress and announced the formation of Congress-Khilafat Swarajya Party.

Which of the above statements is/are correct?
faRiaR, 1922 B gU HIG & a1 iR F Yo & Fufirfed wuei iR ffar &% -

1. MR AT B b T SHTUATH BT Sfeardm 3R, & A &1 2|
2. AiieTd Fe< = By P TRIa Ug ¥ ArTod ¢ faan 3R - faared Tt uref @1 71aH {3

Iuad & -1/ YT TE B/

(A) Only 1 ad 1

(B) Only 2 %Had 2

(C)Both 1 & 2 & 1 3R 2

(D) Neither 1, nor 27 a1 1, 7§ 2

Correct Answer Answer Description

C C.R. Das presided over Gaya session of Indian National Congress. The differences over the question of council entry between the
Swarajists and the no-changers resulted in the defeat of the Swarajists proposal of ‘ending or mending' the councils at the Gaya session
of the Indian National Congress in December 1922. After that, C.R. Das and Motilal Nehru resigned from the post of president and
secretary respectively of the Congress and announced the formation of Congress-Khilafat Swarajya Party, with C.R. Das as the president
and Motilal Nehru as one of the secretaries.

) 3R, T A Y P T AT BT 3remerdr B R HOG & TR, 1922 F T ifEEwE § wWRIRET $iR ruRadHaredl & e uikeel #
TAY & e, W AGHG & BRI WRITS! T URuS! H M S 37 THI PR A1 IRARIT H BT URATd WIS 8 77| 39 a1 3R,
T A B F 3 U Y T AIATd 6 A 395 g Ug I SHHT SR HRIY-RIahd TRTsT U &1 o+ fohan| It 3R, 3 398



3T YT AT g3 arad a4 |

Question No 35

Marks: 1.33 Minus Marks: 0.44

During the freedom struggle of India the group of ‘Non-Responsivists' within the Swaraj Party were led by :

YR aTefiTar Tue & SR WRIe Ul & iR TR-Srframanfeal &1 Iga #xa a3

(A) Lala Lajpat Rai STl TTsTdd 1A

(B) Motilal Nehru HIdTaTe T8

(O) N.CKelkar T3, defepR

(D) Madan Mohan Malviya m?{lﬂ%:mmiﬁu

Correct Answer Answer Description

B By 1924, the Swarajists position had weakened and a split among themselves was observed on communal and Responsivist- Non-
responsivist lines, and the death of C. R. Das in 1925 weakened it further . The Responsivists among Swarajists which were led by Lala
Lajpat Rai, Madan Mohan Malaviya and N.C. Kelkar advocated cooperation with the Government and holding of office wherever possible
to protect the so called Hindu interests. They accused the Non-responsivists like Motilal Nehru of being anti-Hindu.

1924 3. T W@RIfordl &t FRURT SR BT 778 quT 39 iR f Giueifies wd sigforamarel aut TR-Srframardt SR | & e §) 1Y) Wit
H SframaTdt TTe BT g T AToId I, A A HIedi auT T, as gRI & m S o quresia g R @ e ¥ i wer
F 1Y TEanT SR gt YHT B Ug YRU FA B IHTed Hd A1 IEA Aiard e o R-srgforararied ot fig-faRih Fear srdramn
Eill

Question No 36

Marks: 1.33 Minus Marks: 0.44

With reference to the Communist Party of India (CPI), consider the following statements :

1. The Communist Party of India (CPI) was formed in 1920 in Kanpur by M.N. Roy.
2. The Indian Communist Conference at Tashkent (now, the capital of Uzbekistan) formalized the foundation of the CPI in 1925.
3. Many communist leaders were jailed in the Kanpur Bolshevik conspiracy case.

Choose the correct option :
Hrgfe urel offts $fEar (cpl) & Teuf #, e sy R AR &1

1. THPT TS Y 1920 H TH.TA. T gRT HHGR A {3 ma |
2. 99 1925 B ARG (3F SoABEIH BT YN F §5 YR FIRE HI364 CPI BT RITIAT BT 3o =y far
3. FAR NRAP T H 3 Yrgard! Farsht b1 9d gs |

T8 ey &1 A :

(A)1and 21 3R 2
(B)2and 32 3R 3
(©)1and313MR3

(D) Only 3 %4d 3
Correct Answer Answer Description
D The Communist Party of India (CPI) was formed in 1920 in Tashkent by M.N. Roy and others after the second Communist Congress. M.N.

Roy was elected as the leader. In 1925, the Indian Communist Conference at Kanpur formalized the foundation of the CPI. In 1924, many
communists like Muzaffar Ahmed, S.A. Dange, Shaukat Usmani, and Nalini Gupta were jailed in the Kanpur Bolshevik conspiracy case.

Ry urel offts Sfgar @ides) o1 ma+ af 1920 & dRrdhe H THUA. 374 3IR 3 ANl & gRT fgcia HRgfe S & gTd fasar
THUA. 9 B 5HBT a1 AT 77| ¥ 1925 H BHR H g5 URAT HRFARE HI369 = W & wITa1 & siueniRe =y fear| af 1924 %
PR TR T B F3 SRIRE! TUT- THU. SH, oI 375H<, Mahd IHMT IR A I[wr 1 ot g3 ot

Question No 37

Marks: 1.33 Minus Marks: 0.44

Why did Gandhi established the ‘Tolstoy Farm’ in South Africa?

1. Tolstoy Farm was meant to house the families of the Satyagrahies to give them a way to sustain themselves in South Africa.
2. All those who had lost their jobs and homes by their participation in the Satyagraha could be settled there.
3. It was named after a famous Russian writer.



Which of the above statements is/are correct?
TS = GIR0T STTBTeRT H TTAReTd T &1 AT 3 B &t

1. TleTeeTd BTH Tarifeal & URARY & Ig4 & forw - o1, 5 3 <faor enpier # 3o Fidgd & 9& |
2. 39, R Tamrg § yrfieR & RT3 ISR 3R R WY 3, T81 7§ I A
3. 3P AW U UG ! a9 & 919 I R o1l

S § $H-A1/A BU e 8/8?

(A) Only 1 and 2 aa 1 3R 2
(B) Only 2 and 3 Fad 2 3R 3
(C) Only 1 and 3 Had 1 3R 3
(D) All are correctB‘q?iiHW-ﬁ

Correct Answer

D

Answer Description

Hermann Kallenbach, a white farmer, was so impressed with the peaceful way of life at Phoenix that he offered, Gandhi his own big farm
near Johannesburg to start another establishment. He suggested that all those who had lost their jobs and homes by their participation in
the Satyagraha during the struggle for equal rights in South Africa could be settled there. The new establishment was named ‘Tolstoy
Farm’, after the Great Russian writer whom Gandhi much admired. Here people who were different in nationality, religion, and colour
lived together like one family. They worked hard and shared the fruits of their labour.

et & Wi s # Siiad & Wifaqul WY § T 4 fFuH S SIferarg 3a1 THIfad gon fos 3o iefsh 31 Sigfaet & fee
A € U S HRITOAT I A & FoTg oo gee Wi & o) Iu e fear fos 3 ot safd, forgint <fron st & wum SR &
o oy & SR gamrg & yrfieR) & SR 3T AR SR TR WY 2, 3 I8 I8 TP U1 T T3 AR HT A9 HgH 4l a8 (R
TiefioR P! FHIGR Hd Y) &b 7 W Tlereid BIH' 381 111 Tgi W Fe-fire gtaar, 4l vd quf aret o | & e URaR &1 @Rg Yed 313
HSI AETd B U TYUT YA 4H & Ufahd P 9 F g Hd U

Question No 38

Marks: 1.33 Minus Marks: 0.44

Identify the 'carrot’ and the 'stick' of the 'Carrot and Stick Policy' of British Indian Government after 1918?

1. The stick was represented by the Montagu-Chelmsford Reforms.
2. The carrot was represented by the measures such as the Rowlatt Act.

Which of the above statements is/are correct?
1918 ¥ 1S ffex URA TWHR BT TR R B ([@Re T f&ew) Aifyr Ft more ok Bt &1 fafga Sifon -

1. B B UfaffE Aw-JwIhIE uRY A fwar|
2. TR’ &1 Ui Adte sifbifam St srefarfzat grr faar mn)

ST F BH-T1/R HY T R/

(A) Only 1 ad 1
(B) Only 2 Hdd 2

(C) Both 1and 2 1 3R 2 &1
(D) Neither 1 nor 29 1, 78t 2

Correct Answer

D

Answer Description

After the end of First World War, there was a resurgence of nationalist activity in India and Indian struggle against imperialism took a
decisive turn towards a broad-based popular struggle. But the British Government was not prepared to part with or even share its power
with the Indians and once again resorted to the policy of ‘carrot and stick’. The carrot was represented by the Montagu-Chelmsford
Reforms and government of India act 1919, while measures such as the Rowlatt Act represented the stick.

A 3y g5 F TAIGH & 918 HRA H gare) Tafalial &1 g gei Sk Iimear & fave MR doy = S e i 9y 3 iR
s e Are fomm| Wy e TR sHewT i a7 srar YR & Try ot ifa Tren 3R & g daR = ot aur 3 g TeR
IR I (@Re T3 Rew) Bt A FHF o 38 TeR’ T uafHiia Tty Jwhis YR auT HRd TRSR Sififad, 1919 7 5, safe
3le Tae oIt priaiRal 3 ‘Bl B g=ian|

Question No 39

Marks: 1.33 Minus Marks: 0.44

Who was called as 'the Ambassador of Hindu-Muslim Unity" after Lucknow Pact of 19167

1916 & TGS, THI & UTd e feg-qfam Uehdl &1 srigd’ Fgl T

(A) B. G. Tilak ST TTTTER foaes



(B) Muhammad Ali Jinnah JgHq 3t o
(C) Abul Kalam Azad 3{gd Dl 3Tellq
(D) M. K. Gandhi TH. &. T7eft

Correct Answer Answer Description

B The Lucknow Pact refers to an agreement reached between the Indian National Congress and the Muslim League at the joint session of
both the parties, held in Lucknow, in the year 1916. Muhammad Ali Jinnah, then a member of the Congress as well as the League, made
both the parties reach to an agreement to pressure the British government to adopt a more liberal approach to India and give Indians
more authority to run their country, besides safeguarding basic Muslim demands. Due to the reconciliation brought about by Jinnah
between the Congress and the League, the Nightingale of India, Sarojini Naidu, gave him the title of “the Ambassador of Hindu-Muslim
Unity”.

TS TS ¥ 1916 H HRUT AP BN SR FREH T & 7e o UT| Gewg Sreht o, I b a9 pig iR A aFl & Wew 9, &
T ¥ S 30 39 IS TR IgAd gU R 3w ReR W URa & U sifires SgRard! 3 3o ok R 1 3o =1 Iam &

for it WRIPR 3 3 Uged SaTd T ST W5 | BT SR 7T bl Uh-gaR & fidhe @M 3 Foral & vt & ufkiied & yRd 3 Aisfeia
FEI S Tl WIS A1 A o &1 g g™ twhdr &1 sriga’ STl

Question No 40

Marks: 1.33 Minus Marks: 0.44

Who was/were the women poets of Rigvedic period?

fFrafafed & 1 Bafee P # Afee Hare o

(A) Apala 3Tl

(B) Ghosa €IS

(O) Both A and B A 3R B &I

(D) None of the above Wﬁaﬁéqﬁ

Correct Answer Answer Description

C Women were given equal opportunities as men for their spiritual and intellectual development. There were women poets like Apala,
Viswavara, Ghosa and Lopamudra during the Rig Vedic period.

P BTAT H HarAHT S-S, FyaRT Td 9 Bl 3o SiTeafdis Ud g e % fRig geut & TAm SawR ured 3

Question No 41

Marks: 1.33 Minus Marks: 0.44

Curiosity rover of NASA is designed to explore which celestial object?

A & FRARIE IR &1 Ffarad & ¥ fea @y s & sravur &g fSamsH foar mmn

(A) Mars HITQ

(B) Moon T&HT
(C) Titan CIgcH
(D) Venus X[sh

Correct Answer Answer Description

A Curiosity is a car-sized rover designed to explore the crater Gale on Mars as part of NASA's Mars Science Laboratory mission
(MSL).Curiosity was launched from Cape Canaveral on November 26, 2011, at 15:02 UTC and landed on Aeolis Palus inside Gale on Mars
on August 5, 2012.

FIRAMRIE AR AT B TR WS AaRest forwH o1 few 8, i 6 ufeal areht Aiarsd Tanm=ian €| Je e Hd 98 W At & T, agm
YT ATATGRUT BT 3T B LT 3 | 3TDT YATU Teery V 541 YA I §RT 26 TR, 2011 B HY H1a¥el 4 fpam M|

Question No 42

Marks: 1.33 Minus Marks: 0.44

Which of the following is/are the essential components of autotrophic mode of nutrition?

Fafifea & ¥ SH-I1/3 TN & WO UeR & a6 Ued 8/8?

(A) Carbon dioxide and water e SRS TG oI



(B) Chlorophyll FARIGA
(C) Sunlight & T TaBTI
(D) All of the above Iudad Tt

Correct Answer Answer Description

D Autotrophic nutrition is a process in which the organism produces their food from the simple inorganic materials such as water, carbon
dioxide and mineral salts in the presence of sunlight. All the green plants have an autotrophic mode of nutrition.

U} T T U Tifshan B, o Siau) Uty Bt SRR T TR fpTai-ieh Uemlf Siy- S, Bla- SI33iaazs 3R @is aaui 9 3o
IS 9OR B4 & | Gt 3ia ureT & Tauist ueR &1 awor g W B

Question No 43

Marks: 1.33 Minus Marks: 0.44

Which initiatives were announced in 2019-20 Union Budget to promote work on Artificial Intelligence?

1. National Program on Atrtificial Intelligence
2. National Centre for Artificial Intelligence
3. National Portal on Artificial Intelligence

4. New Department of Artificial Intelligence

Codes :
ST FFIA (Al) R BT B NeIed B 7 BT Foie 2019-20 H for vgal 3 Biwon o1 7157

(A) Only 1 and 4 Fad 1 3R 4
(B)Only 1,2 and 4 haa 1, 2 3R 4
(C) Only 2 and 4 a2 3R 4
(D) Only 1,2 and 3 Fad 1, 2 3R 3

Correct Answer Answer Description

D No new department on Atrtificial Intelligence was announced in 2019-20 Union Budget.

TY 2019-20 & Hed gore B HRAT Fgaan W ot oft 7 faum & w1 1 iwon 78 31 715 o

Question No 44

Marks: 1.33 Minus Marks: 0.44

Which of these comes under the sub-category of Champion Sectors among the following services ?

1. Accounting and Finance
2. Communications

3. Legal

4. Health & Wellness

5. Environment

Codes :
oo Jamsit & I BI-0 e & Bt 3u-9oft & d8d e &

1. RGP 3R
2. §AR

3. fafre

4. WY TY 3R
5. TgTaRT

P

(A)1,2and 3only 1,2 3R 3
(B)1,2and 4only 1,2 3R 4
(©1,2,4and50nly 1,2,4 3R 5
(D)1,2,3,4and51,2,3,4 3R 5

Correct Answer Answer Description



D All of them were identified as Champion Sectors in Services at recently held 5th Global Exhibition on Services (GES) in New Delhi.

BT & H 1S el o omenfora Jareff W 5t afyes yewi Hf Iudjad waft & ) Yareht # g et & U H Fafga i mar an

Question No 45

Marks: 1.33 Minus Marks: 0.44

In which of the following state Bru or Reang tribes are NOT found?

Fraforied & 9 forg wou 8 g a1 R senfaat 76t urs o g7

(A) West Bengal LIEEEIN]

(B) Assam 3{IH

(C) Tripura ﬁ'ﬂ?‘l

(D) Mizoram i

Correct Answer Answer Description

A The Brus, also called Reangs, are scattered across Assam, Mizoram and Tripura. Recognised by the Constitution of India as a Particularly

Vulnerable Tribal Group (PVTG). PVTG status owing to their traditional life patterns (shifting cultivation, use of primitive tools, habitation in
inaccessible areas)

3, o e Sonfa & 7 @ off o e 8, o, fireiRe ofR fIgRr & urs et §1 3% R Tfger gR1 ks w0 § gig sk $ig
1 TSt Ve a7 €, aiifch S g PN okl TRl BT ot off sreiferet &1

Question No 46

Marks: 1.33 Minus Marks: 0.44

Which is the first State in country to enact a law on 'contract farming'?

faer Bt U= AR S aTe 3= %7 URan s B 82

(A) Karnataka Einca
(B) Sikkim fafawa

(C) Telangana AT
(D) Tamil Nadu AfTrg

Correct Answer Answer Description

D Contract farming is an agreement that involves producers/farmers, intermediaries, processing and or marketing firms, to provide the farm
produce at predetermined prices and quality, at specified places, after a specified duration.Tamil Nadu becomes first State in country to
get law on contract farming.

TG =T BT T I 8, A sigely HiY & for fafy faffa ot 81

Question No 47

Marks: 1.33 Minus Marks: 0.44

What is VIPER (Volatiles Investigating Polar Exploration Rover), seen in news sometimes?

Fut-F vt THrERT & forarE 37 aTen IRW @I 3R UIaR Te@RRI JaR) 3187

(A) water-hunting robot of NASA -TIIT BT oId-Trell Jse

(B) Methane-hunting robot of NASA T &1 HH-Wlel! Iaiie
(C) water-hunting robot of JAXA SITRIT &1 SA-@rel e

(D) water-hunting robot of China A4 &1 S-@iol Asile

Correct Answer Answer Description

A NASA plans to send water-hunting robot VIPER (Volatiles Investigating Polar Exploration Rover) to moon surface in 2022. It aims to search
for deposits of water below the surface.

wﬁ;ﬁggzwaﬁﬁwmwﬁawﬁ@aﬁ%%nmmﬂwmw@mﬁu&?ﬁamﬁaﬁ
ST [



Question No 48

Marks: 1.33 Minus Marks: 0.44

J. Satyanarayana Committee is associated with which of the following?

W, YR wfdfy Fafiied 7 3 frad gefta 27

(A) Utkarsh 2022 I Y 2022

(B) National Digital Health Blueprint 1519 f&fee W fiic
(C) New India Movement 2017-2022 Fd HRd 3, 2017-2022
(D) National Wind-Solar Hybrid Policy T@H Jg-9R E»'I's'@'g Hfe

Correct Answer Answer Description

B Sh. J. Satyanarayana, Former Chairman, UIDAI and Chairman of the National Digital Health Blueprint (NDHB) Committee submitted the
final National Digital Health Blueprint (NDHB) report to Union Health Minister. NDHB will help in providinga common platform for
integration of existing applications in health domain and data which has existed in silos, either in public health facility, or, in private
healthcare facility, in India.

UIDAI & T 31eme 1. TR 15 feforee W seifiie W 1fed afif & sredel 41 39 wifa 3 s sifom Ruie sl warea w72 &
Rl

Question No 49

Marks: 1.33 Minus Marks: 0.44

'‘Operation Dhanush’ of Indian Railways was aimed at-

R et 3 *SHTOR Uy P w6l B -

(A) Implementation of bio-toilets Sa-QrTerl @1 fparagT

(B) Ensuring women safety I[%Wﬁﬁ'ﬂlﬁ RET ﬁﬁ@ﬁ HIAT

(C) Constructing bridges at level crossings TAURT (Iad HIRT) q?gt-ﬁmﬁmfmm
(D) Controlling ticket touts fespe-gamal W fgaor

Correct Answer Answer Description
D ‘Operation Dhanush’ of Indian Railways was aimed at busting the ticket touts.
Ig e fede-garal R g0 &g 21

Question No 50

Marks: 1.33 Minus Marks: 0.44

Consider the following statements with respect to ‘Capsaicin’ :

1. It is an active ingredient of chillies.
2. It is known to have anti-obesity or fat reducing properties and can enhance the effect of obesity-related hormones.

Which of the above statements is/are correct?
SRR F da # FofAfed Ful R AR a1 :
1. 7% forel  ure & aTen U Wby v g
2. 9% HeTaT-eht I7 991 1 FRA a1 O © o @, T I8 HieTar-gaeh groHT & gHTd B I 1 I g
S § A H-T1/A BU L 8/87

(A) 1 only Had 1

(B) 2 only %ad 2

(C)Both 1and 2 1 3R 2

(D) Neither 1, nor2 9@l 1, 9dl 2

Correct Answer Answer Description

C Capsaicin, an active ingredient of chilli, is known to have anti-obesity or fat reducing properties. Now Indian scientists have figured out
how this property of capsaicin can enhance the effect of obesity-related hormones.

FRERE, i &1 us Ifthd ues B, 38 Hem-Adh & = 8 a1 $H& 99 6 HH B4 d1d O 8 ST ST | SH o1 &1 1 B B 00
T 819 ¥ T8 Hierr R s 67 arel gfAi % yuial  fg wrar gl



Question No 51

Marks: 1.33 Minus Marks: 0.44

Consider the following pairs :

Cyclones Origin

Maha - Atlantic Ocean
Kyarr - Arabian Sea
Hagibis - Pacific Ocean

Which of the pair(s) given above is/are correctly matched?

Fafarad gt & e o R &% -
gehard I
1. 751 - 3fcdilcd AENFR
2. @R - IR IR
3. gifew - URIid HERITR

Suded gl 7 9 HH-31/4 Fe GARAd 8/8?

(A) 2 and 3 only ad 2 3R 3
(B) 2 only %ad 2

1 and3on|yaﬁﬁ1 3R 3
(D)1,2and 31,2 3R 3

Correct Answer Answer Description

A Maha — Arabian Sea
Kyarr — Arabian Sea
Hagibis — Pacific Ocean

Thus it is clear that pair 2 and 3 are correctly matched.

apard 3T
T — 3RE AR
TR — 3RE GIR
IR — YR HERIFR

Question No 52

Marks: 1.33 Minus Marks: 0.44

Which of the following is/are incorrect about ‘Lymphatic Filariasis'?

fordpfes wraRay & da # Fofafed & § o s 3/

(A) Commonly known as ‘Elephantiasis’ 31 dR TR I8 g1eiuig & =19 I ST SfaT 21

(B) Not a Neglected Tropical Disease (NTD) g Jufer Iwrsmfes i I (qqeﬁs‘b :I'Eﬁ%l

(C) Caused mainly by Wuchereria Bancrofti worm WE@WWWE@T%I
(D) Spread by Culex mosquitoes %WWQW%I

Correct Answer Answer Description

B Lymphatic filariasis, commonly known as elephantiasis, is a neglected tropical disease. Lymphatic filariasis is transmitted by different types
of mosquitoes for example by the Culex mosquito, widespread across urban and semi-urban areas, Anopheles, mainly found in rural
areas, and Aedes, mainly in endemic islands in the Pacific. Lymphatic filariasis is caused by infection with parasites classified as nematodes
(roundworms) of the family Filariodidea. There are 3 types of these thread-like filarial worms:

1. Wuchereria bancrofti, which is responsible for 90% of the cases.
2.Brugia malayi, which causes most of the remainder of the cases.
3.Brugia timori, which also causes the disease.

ferthfos wRARTRIG ! IrT=Id: Wicuia a1 grefiuia 3 =19 | ST S || 98 U Jufdd Swissfesddta A7 71 Smegy (as) Tme
m%wﬁgﬁﬁnm%méﬂﬁﬁwqﬁaﬂmﬂnwww%sﬂﬁn%ma&jﬂq@a@@ﬁﬁﬁa
TSl & AR W &

Question No 53



Marks: 1.33 Minus Marks: 0.44

Term 'Qubit’ ,which is seen in news sometimes, is related to -

P FH TIERT & 3 S AT Hgfie Weg e 8-

(A) Basic unit of space communication W&[Wﬁ%‘kﬁwﬁ

(B) Basic unit of information in a quantum computer WWﬂWﬁHﬁ’ﬁm
(C) Basic unit of information in Google's Data ServerTﬂWWﬁWﬁﬁ@“ﬁ%ﬁé
(D) None of the above G'q?iﬁlﬁﬁaﬁéq—@pf

Correct Answer Answer Description

B A quantum bit, or qubit, is the basic unit of information for a quantum computer, analogous to a bit in ordinary machines. But unlike a
bit, which can have the value 0 or 1, a qubit can take on an infinite number of values. Physicists call these the states of the qubit.
T HieH SR 3g I BT SHTYR SHT ¢

Question No 54

Marks: 1.33 Minus Marks: 0.44

In the context of social media platforms, what is 'Pegasus' which was seen recently in news?

areret HifEar el & Te &, 31a @ § TueR! § XeT IR 341 87

(A) Spyware T-‘TIE%&'\T

(B) Android Version ﬁgﬂgaﬁh

(C) Graphic Tool UTfthd TA

(D) Google App TTd ¥d

Correct Answer Answer Description

A Recently it had been reported that the popular messaging platform WhatsApp was used to spy on journalists and human rights activists
in India. The surveillance was carried out using a spyware tool called Pegasus, which has been developed by an Israeli firm, the NSO
Group.

P T WEATR 8, R szl it NSO 0 gRT ARy fovan man 31 g1a & & yRd o Uy 3 gy ST} o) s it # v

Question No 55

Marks: 1.33 Minus Marks: 0.44

Which of the following organization annually publishes National Health Profile (NHP) in India?

o & oH-91 SRIM 4R H TR WA TIBTEd (NHP) 31 a1 TebT=I Sl 87

(A) FSSAI U0 TH.TH.T.3MTS. (FSSAl)

(B) NSSO T.TH.TH.37. (NSSO)

(C) CSO TTH.3M. (CSO)

(D) None of the above B'miaﬁ k| ?ﬁ% BGl

Correct Answer Answer Description

D The Central Bureau of Health Intelligence (CBHI) has been releasing its annual publication "National Health Profile (NHP)" on a regular
basis since the calendar year 2005. This publication of vital national significance brings out very substantial health information under six
major indicators viz, Demographic, Socio-economic, health status, health finance, health infrastructure and human resources for the
specified calendar year and much more relevant information required for an efficient public health system in our country.

IS WG W1 A aies KU BT USRI WK Jd1 ASTHERIe™, WA Td URAR SedTtl HATed & daay™ § Sei W
ST &R (CBHI) GRT fbaT oI 21

Question No 56

Marks: 1.33 Minus Marks: 0.44




Recently, Karikiyoor Rock Paintings have been found at which geographical location of India?

B1A & T BRIGI TR e URd & fbg Himiferes & o v g3 82

(A) Shivaliks frarfere
(B) Vindhyas TRratfae
(C) Nilgiris iR
(D) Aravalis 3RTIA

Correct Answer

C

Answer Description

Karikiyoor Rock Paintings are situated at Kilkotagiri in the Nilgiri forests. These rock paintings have withstood the forces of nature for
some 5,000 years, but in just the last few years, close to 40% of the paintings have been destroyed by trekkers, tourists, and vandals.

5000 Y gd 1 AT YR Rk &) AR & Shrel 8§ fpaeiei & uar mr |

Question No 57

Marks: 1.33 Minus Marks: 0.44

Which of the following is not associated with Ajivika sect ?

Fofared & 9 3 sMoiae = & Fefid 78 67

(A) Makkhali Goshala AaRafer Tr=rer
(B) Barabar Caves of Bihar f4gR & SRT&R w1
(C) Rivals of both Buddhist and Jains @l?sff 3R ST & ufcregelf

(D) Bindusara's was a critic of Ajivika sect [SgGHR 3MTsiide Hd BT SHTelidd U1

Correct Answer

D

Answer Description

Makkhali Goshala was the most important leader of Ajivika sect. The Barabar Caves (ancient rock cut caves) in Bihar dating from the
Mauryan Empire, were made for Ajiviks and Jains to retreat and meditate. During the early period of Jain and Buddhist traditions, Ajivika
philosophy was their major rival. Buddhist and Jain texts are very critical of the Ajiviks, Ajiviks are considered fairly important rivals of
both. Mauryan king Bindusara was a follower of Ajivika sect.

TERae MR SMoliaed = & Ta8 T afed 3| IR & SRIeR 3 T (W= TRaR T[0T) HiieTet 8, Ry siefiast 3R o & fasm ud
HIYAT ¥ TR TN UT| 9 Ud g IROR1ah & URAYeE 1d & afofiads &= 3-eT yg wfowadf o1| o1 e fagur eisitass o= &1
SR T

Question No 58

Marks: 1.33 Minus Marks: 0.44

Chaukhandi Stupa is an ancient Buddhist site which is situated in the state of :

T U sl R IS WU b o 7 orafud 82

(A) Uttar Pradesh IR US¥]

(B) Andhra Pradesh 3fff T&=T
(C) Madhya Pradesh H% T

(D) Bihar fSgR

Correct Answer

A

Answer Description

Chaukhandi Stupa is one of the important Buddhist Site at Sarnath in Uttar Pradesh. The Chaukhandi Stupa is thought originally to have
been built as a terraced temple during the Gupta period between the 4th and 6th centuries to mark the site where Lord Buddha and his
first disciples met traveling from Bodh Gaya to Sarnath. Later Govardhan, the son of a Raja Todarmal, modified the stupa to its present
shape by building the octagonal tower to commemorate the visit of Humayun, the powerful Mughal ruler.

IRIST WU, IR U & IRATY T U Ui sl T 3| IRad W 98 S &1 T fa=na #R B, et anfeR yae spapiviy 2R § firr
BT 8| A TabTel & GRH 912 § BT Xated! & oig a5 wu i gem o1, 8 a1g & 3o Slevad & g MaeH 3 adum e &
TN FHram|

Question No 59

Marks: 1.33 Minus Marks: 0.44

Ugratara Temple is an important Shakti shrine which is located in the state of :



T Wfaadie IUART HieR v s & fRua 82

(A) Uttar Pradesh ITR Ta=T
(B) Uttarakhand STRIEE

(O) Bihar R

(D) Assam 3{¥H

Correct Answer Answer Description

D UgraTara Temple is a temple dedicated to Tara (Devi) is an important Shakti shrine, located in Guwahati,Assam.The present temple of Ugra

Tara was built by Ahom King Siva Singha in 1725 AD.

JUART HfeR, aRT 3t b wmfifa v wfdadis 8, St o 3 Tarere) # fRd § | SUaRT HfeR & i Wy &1 fufor eigm e fRrar Rigr A
1725 . HH=mn Il

Question No 60

Marks: 1.33 Minus Marks: 0.44

Strait of Hormuz is situated between :

BRYS Sy (We) fras o fRa g2

(A) Oman and Iran Kheic) 3-?[?%'\’1:[

(B) Oman and Yemen 3N 3R g

(C) Yemen and Iran gH4 Gﬁ?g?ﬂ

(D) Saudi Arabia and Iran THd! 3RT @?W

Correct Answer Answer Description

A The Strait of Hormuz, located between Oman and Iran, connects the Persian Gulf with the Gulf of Oman and the Arabian Sea. On the
north coast lies Iran, and on the south coast the United Arab Emirates and Musandam, an exclave of Oman. The Strait of Hormuz is the
world's most important oil chokepoint because of the large volumes of oil that flow through the strait. In 2018, its daily oil flow averaged
21 million barrels per day (b/d), or the equivalent of about 21% of global petroleum liquids consumption.

BRES STy A 3R 34 & o9 U §1 98 BRY Bt WISl &1 3EH ot Wil 4 e 31

Question No 61

Marks: 1.33 Minus Marks: 0.44

Recently Bimal Jalan Committee was formed by RBI to suggest :

71 € & URdg Rord §% gRT fama S aftifa &1 e frads fore gema 3 & fosan ar am

(A) Metro Rail reforms ﬁ-;ﬁa gUR
(B) Fiscal policy reforms IR Hifa o gUR
(C) GST reforms GST gUR

(D) None of the above m{aaﬁaﬂé?a“r

Correct Answer Answer Description

D The Reserve Bank of India had constituted an expert committee in December 2018, which was headed by the erstwhile head of the RBI,
Bimal Jalan. This committee, constituted with the concurrence of the Government of India to review the extant economic capital
framework of the Reserve bank of India and to suggest the quantum of surplus transfer to the government. The Committee has
submitted its report (https://www.rbi.org.in/Scripts/PublicationReportDetails.aspx?UrlPage=&ID=939) in August 2019 to the Governor of
the RBI.

T8 2018 T ST, faH STar @1 sremerar & YR o e & adqm onfife goht o o geiten & Rig wes faRive afifa &1 wa+ foar mar i

Question No 62

Marks: 1.33 Minus Marks: 0.44

By which Indian state India’s first Emission Trading Scheme has been recently launched?

BTA &1 H YRA BT TUH St SIS TIoHT b s 3T §RT YR &1 182



https://www.rbi.org.in/Scripts/PublicationReportDetails.aspx?UrlPage=&ID=939

(A) Uttar Pradesh 3TR USXT
(B) Gujarat T[oRTd

(C) Telangana SNAIEI

(D) Tamil Nadu AfH@Tg

Correct Answer Answer Description

B Gujarat has launched India’s first Emission Trading Scheme to combat particulate air pollution. The programme is a market-based system
where the government sets a cap on emissions and allows industries to buy and sell permits to stay below the cap.

IR T ¥ AT & oI ToRTd 5T A 3 3 uuT Iesi ofeT e Ik} @t ¥ | add B I8 U SIoTR SeTia yone 8, e 3w %
I B St e Fifdg s d e R

Question No 63

Marks: 1.33 Minus Marks: 0.44

Which of the following statements is/are correct about Particularly Vulnerable Tribal Groups (PVTGs)?

IR ¥ HHOIR ST THET (PVTGs) & e #, Faffad sy A aa &-

(A) There are total 75 identified PVTGs in 18 states. 18 X0l § §d 75 PVTGs B! UgaH &1 7T 3|

(B) The 3rd highest number are found in Uttar Pradesh. sﬂﬁmma@rwwmﬁqﬁw%l

(C) Ministry of Tribal Affairs implements Development Scheme for them. WWWW WWWWWWW%I
(D) All of the above are correct wg[aamﬁwﬁ%

Correct Answer Answer Description

C 75 tribal groups have been categorized by Ministry of Home Affairs as Particularly Vulnerable Tribal Groups (PVTG)s. PVTGs reside in 18
States and UT of A&N Islands. The highest number of PVTGs are found in Odisha(13) followed by Andhra Pradesh(including Telangana-
12) and Bihar(including Jharkhand-9). The Ministry of Tribal Affairs implements the Scheme of “Development of Particularly Vulnerable
Tribal Groups (PVTGs)" exclusively for them. Thus, option A, B and option D are incorrect about the PVTGs and only option C is correct.

18 Il T4 Y Y & SISHH T FIaR Fluegg § Ry w0 3 HWR S THg (PVTGs) 31 T 75 3, o wad aifies siifesm
(13) 3TR IUP TYT SHH: S8 Y @S Wied $d 12) Ud [9ER @RES 9fed ad 9) H ure oid 71

Question No 64

Marks: 1.33 Minus Marks: 0.44

New START (Strategic Arms Reduction Treaty), sometimes in news, is a nuclear arms reduction treaty between :

Pt THERT B 8 A, LW RUAde WRd Skt 1ty fobe & SRif & e et wRd w9y g

(A) USA and Russia 3RaT 3R &4

(B) USA and North Korea 3ARPT 3R I HIfET
(C) USA and Iran 3@ReT 3R S

(D) None of the above E'q?iaﬂﬁﬁg:ﬁﬁ

Correct Answer Answer Description

A New START (Strategic Arms Reduction Treaty) is a nuclear arms reduction treaty between the United States and the Russian Federation.
The formal name of the treaty is Measures for the Further Reduction and Limitation of Strategic Offensive Arms. It was entered into force
in 2011; it is expected to last at least until 2021.

e Y Rurifde 8= 3o 9t et TRel & oo ¥ WEid 21 a8 smifeT ok E2ft 4u & dta g |t §1 98 Wit af 2011
BN ERERT

Question No 65

Marks: 1.33 Minus Marks: 0.44

Which of the following countries is NOT a member of Shanghai Cooperation Organization?

Fuferiad 32 & $H 1S TgaNT WeA &1 Jed A8 87

(A) Kazakhstan GRS



(B) Kyrgyzstan fpfiteam
(C) Tajikistan QTR
(D) Turkmenistan g?;‘?ﬁﬁw

Correct Answer Answer Description

D The Shanghai Cooperation Organization (SCO), or Shanghai Pact is a Eurasian political, economic, and security alliance. China, Kazakhstan,
Kyrgyzstan, Russia, Tajikistan, and Uzbekistan are the founding

members of the Shanghai Cooperation Organisation. India and Pakistan joined SCO as full members in 2017 at a summit in Astana,
Kazakhstan.

U IR TS e, 3nfies SiR JRe J Tt T TeanT W6 | I, Bomre, fpfiforam, w4, aiifear ik Ssafeam
TS TS Y& § | YR 3R U= &1 39% gl Gewd &1 gail a8 2017 H SRAMT (@oireka) & Saiford fRRaR qeier & v gaf|

Question No 66

Marks: 1.33 Minus Marks: 0.44

Which of the following launched Financial Inclusion Index in 20187

T 2018 B it THRRE YEdis fhad gR R} far mne

(A) Ministry of Finance fa Hame™

(B) RBI 3R 1378,

(C) NITI Aayog =ifay 3rRT

(D) None of the above G'q?iﬁ b ?ﬁé :lﬁ

Correct Answer Answer Description

A Ministry of Finance launched the Financial Inclusion Index on 25 September, 2018.

ot T YEwie &1 S fod damed gRT 25 RideR, 2018 & AR fasan mar o)

Question No 67

Marks: 1.33 Minus Marks: 0.44

What is the rank of India in the world in the production of nitrogenous fertilizers?

TECIS IRB! & ITE B YR BT [y T HIH-1 RIF 72

(A) 1st TEAT
(B) 2nd GERT
(C) 3rd dIRRT
(D) 4th =T

Correct Answer Answer Description
C India is the third largest producer of nitrogenous fertilizers after China and USA.

HRA, T Ta SR & T1G 3y T TR Tod T97 AR o SRS IUGH Y 3

Question No 68

Marks: 1.33 Minus Marks: 0.44

To which mining related activity is the Open Acreage Licensing Policy (OALP) related to?

T el fba Ay & oo wobs &R ifY (0ALP) o1 Tey 87

(A) Coal block allocation DT &l 3Tded I

(B) Hydrocarbon block allocation B'IB@WW MaeTd
(C) Polymetallic Nodule exploration agum HVTQEI AT Y
(D) All of the above ijaa Tt 3

Correct Answer Answer Description

B



Open Acreage Licensing Policy (OALP) gives an option to a company looking for exploring hydrocarbons to select the exploration blocks
on its own, without waiting for the formal bid round from the Government. Under Open Acreage Licensing Policy (OALP), a bidder
intending to explore hydrocarbons like oil and gas, coal bed methane, gas hydrate etc., may apply to the Government seeking exploration
of any new block (not already covered by exploration). The Government will examine the Expression of Interest and justification. If it is
suitable for award, Govt. will call for competitive bids after obtaining necessary environmental and other clearances. OALP was introduced
vide a Cabinet decision of the Government dated 10.03.2016, as part of the new fiscal regime in exploration sector called HELP or
Hydrocarbon Exploration and Licensing Policy.

BISIBIaT S-ATU AIZHRAT A (HELP) & 3T F T & af 2017 B 30T hot ArARAT Hf (OALP) Y & faam a1 UT1 OALP, YRT &Y
fa ¥ = At wd UTpTareh 1Y & ST & T Uep Ui Tided M o) IRBR Bt Ao 1 iRem g |

Question No 69

Marks: 1.33 Minus Marks: 0.44

Consider the following statements :

1. India's Working age population will start decreasing after 2025.
2. The working age is considered to be 15-59 years.

Which of the above statements is/are correct?
FafaRad sy R AR i :

1. 2025 % IE HRA B SN ST SFIRSAT HH - = 8 S|
2. HrfRfe oy & ST 15-59 I8 ) foram SiTel B 1 Wt U 1 T9 Pifor-

(A) 1 only Had 1
(B) 2 only Had 2

(C) Both 1 & 2 1 3R 2 gHf

(D) Neither 1, nor 2@l 1,78l 2

Correct Answer

B

Answer Description

According to economic survey 2018-19 the working age population will continue to increase through 2041. hence statement 1 is
incorrect. Statement 2 is correct.

e Tderur, 2018-19 F SIHR, HRA B BRI ST & i avf 2041 db TRY BT 31 HUH (1) 39 8, TP BT (2) T 7

Question No 70

Marks: 1.33 Minus Marks: 0.44

What is the present target under Pradhanmantri Ujjawala Yojana, that seeks to provide LPG connection to poor households?

T Swaa e, fresT Ted TRIT TRART $1 Tetiol H-a-M GeaT SRl 8, F dgd ada aed o1 8?

(A) 5 crore 5 ﬁg
(B) 7 crore 7 ﬁ‘s’
(C) 8 Crore 8 HRIS
(D) 10 Crore 10 TR

Correct Answer

C

Answer Description

On February 2018 the Cabinet Committee on Economic Affairs, chaired by the Prime Minister Shri Narendra Modi, had approved to
enhance of the target of Pradhan Mantri Ujjwala Yojana (PMUY) from five crore to eight crore till March 2020. It is notable that the target
of 8 crore-mark had been achieved by the government seven months ahead of its deadline of March 2020.

TRaS, 2018 T werEE Y Sregeran § fde Al ot didsn e 3 v Ssadr dieT & Sidid adHM A8T 5 BRIS B TeThR 8
HRIS PR B AR TS B R, R eiferwy fafy v, 2020 @ 7 Ag g € v e

Question No 71

Marks: 1.33 Minus Marks: 0.44

What is India's global rank in Wind Power installed capacity, as per economic survey 2018-19?

T AU 2018-19 F TR, UG Sl B TR &l & G # URd 1 IfYH Y 71 87

(A) 1st gl
(B) 2nd R
(C) 3rd TERT



(D) 4th YT

Correct Answer Answer Description

D According to the economic survey 2018-19 India now stands at 4th in wind power, 5th in solar power and 5th in renewable power
installed capacity.

TIHE & YR B U Froll SR & 7 3fie Yo A1, IR Foif & giedt Tt Tdieroia Solf =it emar & «f ai=dt g1

Question No 72

Marks: 1.33 Minus Marks: 0.44

In the context of insurance industry in India, Insurance Penetration is measured as :

YR | offar = éw'c:ﬁfr S faRe (Insurance Penetration) P feg wu d TITQTGI'IT'IT%?

(A) Percentage of Insurance premium to GDP .St & Traer S iftras o1 ufawa

(B) Ratio of Insurance premium to Population m*mﬁmmﬂﬁ EREIGH

(C) Ratio of Insurance premium to Population above 18 years 1899 § 31w mﬁm%uﬁaaﬁmm 3urd
(D) Percentage of Insurance premium to Total budgetary allocation $d g 3TdeA & gre oo ftrm &1 gfa=a

Correct Answer Answer Description

A In India insurance penetration is measured as the percentage of the insurance premium to GDP while insurance density is calculated as
the ratio of premium to the total population.

URA # St e B S & e s hitaw & ufoea & &0 & r 91 8, Stefes S g it Td $d SR ST 3ud B

Question No 73

Marks: 1.33 Minus Marks: 0.44

Which of the following is not included in CPI based Core Inflation basket ?

IR Tl GEehieh (CPI) SHTUTRT BR HERBIa srdpe § Frafefad & & aar a1l &2

(A) Food articles @M T¥JU

(B) Fuel Group 34 Tg

(C) Both A and B A 31 B 3

(D) None of the above Gqﬁaﬁﬁaﬁéﬂ"fﬁ

Correct Answer Answer Description

C Core inflation is basically CPI, but with the most volatile items broken out. Core inflation doesn't include food and energy prices. Thus,
Both A and B are not included in CPI based Core Inflation Basket.

CPI 3TYTRA HR GERwIf & el oY 3R S Tg XA et 7, i 370 afed ufkad= 3 MTRidhT TR a1t et B

Question No 74

Marks: 1.33 Minus Marks: 0.44

Which of the following is National Implementing Entity (NIE) responsible for implementation of adaptation projects under National Adaptation Fund on Climate
Change?

SRy TR R I SIHa BN & Siarfd srga ufaeredt & fraraaa & fan frafafEd § Si-w srerh Tk fraraa v g2

(A) RBI 3R&.3MTE.

(B) SIDBI Rrssit

(C) Co-operative Banks TEPRI b
(D) NABARD FTTeTS

Correct Answer Answer Description

D The National Bank for Agriculture and Rural Development (NABARD) is the National Implementing Entity (NIE) responsible for
implementation of adaptation projects under National Adaptation Fund on Climate Change (NAFCC).

ARy UREH TR IETT SR BN & d6d IR URASHISH & S0 3 TaTS (NABARD) STRERIT B



Question No 75

Marks: 1.33 Minus Marks: 0.44

Which among the following commodities have least share in India's export basket?

FrafRad yuhl §  fger YRd # Frafd s/eee & =gy Ren g2

(A) Petroleum Products a@%ﬂﬂ Terf
(B) Cotton UTH

(C) Pharmaceutical Wﬁw

(D) Gems and Precious stones SdTg=Id Q’HEFTET:T TR

Correct Answer Answer Description

B Among the above options Cotton has least share in India’s Export basket.

o Mg HEi A & YR @1 Fiafd SRbe & U &1 A e gl

Question No 76

Marks: 1.33 Minus Marks: 0.44

State with 2nd largest area under forest cover as per latest India State of Forest Report :

FTam YRd 37 RS RO & SR, Faifie JeRor 8 & T H gk RIF IR -7 7T 87

(A) Maharashtra HERTY
(B) Arunachal Pradesh 3SUTd USRI
(C) Madhya Pradesh H% TR

(D) Chhattisgarh STURRTG
Correct Answer Answer Description
B Top 3 States with maximum Forest cover (in terms of area):

1. Madhya Pradesh (77,414 sq km)
2. Arunachal Pradesh (66,964 sq km) and
3. Chhattisgarh (55,547 sq km)

il TR (@b & e H) aral < i <ou g 8-
(1) T UGN (77,414 foet 2)

@ ST USRI (66,964 Tt 2)

©) BUNG (55,547 fbHt2)

Thus Option B is the correct answer.

Question No 77

Marks: 1.33 Minus Marks: 0.44

The highest Forest cover in terms of percentage of geographical area among all the states and UTs of India is in :

Wi &ata & ufaidar & Ged & yRd & T Todt 3R S v # frad aeru ufawrd gaifie 82

(A) Mizoram e

(B) Andaman & Nicobar Islands W@ﬁﬁmm
(C) Lakshadweep a&l@“ﬁ

(D) Arunachal Pradesh 3RO TS

Correct Answer Answer Description
C Top states/UTs with highest Forest cover in terms of percentage geographical area:

1. Lakshadweep (90.33%),
2. Mizoram (86.27%)
3. Andaman & Nicobar Islands (81.73%)

Fd UMD & 3T U & YR TR Yaiie g-1aRor aret =Y 3 I7sa/Saniid uee :
(1 &Y (90.33%)



®) OeiRH (86.27%)
3) SIS T4 MPIEaR gU9gs (81.73%)

Question No 78

Marks: 1.33 Minus Marks: 0.44

Which construction model is being used by UP Government to complete Bundelkhand Expressway Project?

e Fior ise &7 ST IR TR IWBR GRT §LaUS THUN IISTHNT UREISHT BT IR1 $ 7 e o 38182

(A) BOT(Build-Operate-Transfer) s.311E1. (BOT)

(B) EPC(Engineering-Procurement-Construction) étﬁ@ (EPC)
(C) Annuity Model I Aigd

(D) Hybrid Annuity Model TeR aTftie! Algd

Correct Answer Answer Description

B Recently UP Cabinet approved projects to private partners under EPC model for completing Bundelkhand Expressway Project. EPC stands
for Engineering-Procurement-Construction Model.

BTA 8 H SR Uy HRHSd 7 3aus auued & Aol Hriie) ufkaiein & EPC Hisd §RT YUT 3 & Hefd) UeH &1 g1 EPC T JUf %0 §-
SoffafeT MedRde H-ugaRH Higdl

Question No 79

Marks: 1.33 Minus Marks: 0.44

Which neighbouring country is associated with ShardaPeeth corridor, recently in news?

Fofafed & 3 H1F-T7 rSRi 2 87d & # YHER! # 3@ IRET Ui HIRSR I Yax 87

(A) Bangladesh TG
(B) Nepal Ut

(C) Pakistan CIERSIE]
(D) Bhutan YT

Correct Answer Answer Description

C Recently Pakistan has given its green signal for ShardaPeeth corridor. When opened it will be the second religious tract after Kartarpur
corridor in Pakistan-controlled territory that will connect the two neighbouring nations.

BT & H Ui gRT IRET S HIRSR P 0N B Aol UaH B 1S 8 | IRARYR BIRSR P e, Ui Hafd &= ¥ T8 garT uifife
&1 I, S &Y Ul <N & S

Question No 80

Marks: 1.33 Minus Marks: 0.44

Identify the correct statement regarding the Kashi Vishwanath temple of Varanasi :

IR & A f3gTy AR & T 9t By @ ugae :

(A) Kashi Vishwanath Corridor would directly connect Ganga's Manikarnika and Lalita Ghat to it. BTt {341 HIRSIR, 77 F A OfesT quT Tferar a1e & WY T
Seargl

(B) Maratha queen Ahilyabai Holkar of Indore also did renovation of this shrine. S&R @ TRTST It RN Slebr gRT +t 37 AR BT TR BRI 47 4Tl
(Q) It is is one of the twelve Jyotirlingas. I8 TG ST & ¥ T g
(D) All of the above ITRYa Tt

Correct Answer Answer Description

D Kashi Vishwanath Temple is one of the most famous Hindu temples dedicated to Lord Shiva, It is located in Varanasi.The temple stands on
the western bank of the holy river Ganga, and is one of the twelve Jyotirlingas.The proposed 50-feet corridor will directly connect Ganga's
Manikarnika and LalitaGhat to the Kashi Vishwanath Jyotirlinga Temple. This massive makeover is the first after the 1780 AD when the
Maratha queen Ahilyabai Holkar of Indore renovated the temple and the area surrounding it.

HTR Ay 1R, wirar Rra o wmfifa v guitng fég Hfer B 1 o8 armorht & Ry 81 e ufes i 7 & ufdnft f5n = Ry & aur g
Sl & ¥ U 1 T8 TRATAd 50 Wie BT ISR 771 -7e}t fRue Al et qur @ferdr o1 &) wreht fayry sifaffn @ Ssarg1 1780 . &
EER BT IRIST T SRS Bleahx GRT T HIR BT YSGR BRI T 7|



Question No 81

Marks: 1.33 Minus Marks: 0.44

From which year British started recruiting Gurkhas into British Indian Army?

ST g ffemy el B & iRaanait Y o oo a9 § SRy @1 T2

(A) 1794 AD 1794 5.
(B) 1858 AD 1858 &.
(C) 1800 AD 1800 §.

(D) None of the above B’miaﬁﬁ@[ﬁg:fﬁ

Correct Answer

D

Answer Description

British were impressed by the discipline and ferocity of Gurkha soldiers during the Anglo-Nepalese War of (1814-16) and started
recruiting these soldiers during the war. They declared the formation of four separate Gurkhas battalions in 1815. The Anglo-Nepalese
War is also known as the Gurkha War. The war ended with the signing of the Treaty of Sugauli in 1816.

S A TR RfRe &7 Siet-uTel Tk (1814-16 $) H SR qUT I SR 37 AT Bt Ul 1815 S, H SRY PV SAFA-uTelt Ik
B IRGT G F A9 Y oft ST A §1 T8 S 1816 3. T el bt WY GRT AT gt |

Question No 82

Marks: 1.33 Minus Marks: 0.44

Shaheed Diwas is observed every year on -

el e ufa o S T=man S 32

(A) April 19 19 30t
(B) March 2121 A/
(C) March 31 31 AT
(D) March 23 23 A/

Correct Answer

D

Answer Description

Shaheed Diwas is observed every year on March 23 to commemorate the sacrifice made by three freedom fighters — Bhagat Singh,
Shivaram Rajguru and Sukhdev Thapar, for their contribution to India’s independence from the British colonial rule. On March 23, 1931,
the three young revolutionaries were hanged by the British for allegedly killing the then Assistant Superintendent of Police John Saunders
in Lahore in 1928.

Tdie feaw vl oy 23 AT &t 7 Tadaar ST & Sferer o) arg B TR S 81 23 T, 1931 61 dlie gaT wifaesial aul- wird R,
IR ISTTE TUT GEd UTR HY R JuRTST 3Hith I S Givsy & gimis & A 8 & ARIT F SIS gRT Wit &1 e &
TS R

Question No 83

Marks: 1.33 Minus Marks: 0.44

Reko Diq Mine has the world's one of the largest untapped copper and gold deposits. It is located in -

RepIfEe T A qid iR T & 3y & aifie gee sifta Mad § 3 we §1 g safua -

(A) Rakhine, Myanmar €T3, RIHR

(B) Herat, Afghanistan %TI?T BN

(C) Baluchistan, Pakistan Se[ad, UTfbed=
(D) Gilgit, Pakistan fTafiTe, drfored

Correct Answer

C

Answer Description

The Reko Diq mine is located in Chagai District, Baluchistan, Pakistan. It has the world's one of the largest untapped copper and gold
deposits.

frepifee T fay 3 go) ot SrEIRd die auT IH & et @t @ €, S Seifrar (i) # R g1

Question No 84



Marks: 1.33 Minus Marks: 0.44

Which of the following Blue Holes are correctly matched to their geographical locations?

Frafied # 3 SH-91/3 = 8 3ot it s & ary g8 gafa 8/8?

(A) Dragon Hole - South China Sea 3‘17{33[?[ - aféror < 9rR
(B) Great Blue Hole - Belize Coast a’dﬂﬁﬂ - SeieT de

(C) Dean's Blue Hole - Bahamas @R‘lﬁﬁﬁ - JeH™

(D) All of the above IUgad Tt

Correct Answer Answer Description

D A blue hole is an underwater sinkhole formed by the erosion of carbonate rocks and appears as a dark blue circle of water in the ocean.
Blue holes are typically located in low-lying coastal regions, which were once above the sea level many thousand years ago. Some of the
significant blue holes are:

1. Dragon Hole - South China Sea
2. Great Blue Hole — Belize Coast
3. Dean's Blue Hole - Bahamas

= 81 T T GHE T 3| 98 e 9 & oRed § Fiffd 5% 81 oo Tu s e 8-

o ST A - afdor FF wrR
o I - e e
o SR - TN

Question No 85

Marks: 1.33 Minus Marks: 0.44

Ice Stupa project, recently in news, is a survival technique used in farming. It is being proposed to reduce problems of :

B1el & & TR & 28} R-wu ufkaioHT B § vged €19 aTelt Ue STReidd debleh & | ! Grrnail o) ooH i) Ty 39 BT elrd b 1 87

(A) Greenland farmers el & fami ot
(B) Tibetan farmers fossch feamt &t
(C) Ladakhi farmers F’IE'I@ ERIEIEAl
(D) Siberian tribals TTESATS STeMfedl B1

Correct Answer Answer Description

C Ice Stupa project is a survival technique conceptualized to reduce problems of Ladakhi farmers. Ice Stupa is a form of glacier grafting
technique that creates artificial glaciers, used for storing winter water in the form of conical shaped ice heaps. When water is scarce, the
Ice Stupa melts to increase water supply for crops. The idea of the Ice Stupa project was conceptualised by Himalayan Institute of
Alternatives (HIAL) founder Sonam Wangchuk.

SHTSY-KIY URATSHI B BT TEIG b [BIH| B a8 Bg B S g1 aTel FHT B G P & AT B TS| 3SH-KU AR AR
T BT U UBR 8, e gRT HHw ARRRY o1 fAufor i S 8, st <fid g d oa-5ea- & oW smarg|

Question No 86

Marks: 1.33 Minus Marks: 0.44

Recently Retired Supreme Court judge Pinaki Chandra Ghose is appointed as :

BT &1 ¥ ot <grrer & % Yarga <A e = oy ol fged fear man -

(A) The CAG HILTS.

(B) The Chairman, National Human Rights Commission 3{%J&], ?T@HWT@W 3TANT
(C) The Lokpal @eUTd

(D) The Chairman UPSC 3fergf, g0t Tar 3T,

Correct Answer Answer Description

C Retired Supreme Court Judge Pinaki Chandra Ghose was appointed as the first Lokpal of India by the Lokpal committee. He is serving as
the Lokpal of India since 23 March, 2019.

B1d 8 & Say <rTer & QarAg <raneher e 9% 9y &l dieurd 9iafd gRT URA &1 Uge dieurd fAgad faar T 813 A, 2019 9
ER A



Question No 87

Marks: 1.33 Minus Marks: 0.44

Recently approved, Pradhan Mantri JI-VAN yojana aims to promote in India :

71 €t & Wiepa s Sft-a7 dier &1 38 URd | ford ienfed a5 &7

(A) 5G Telecommunication 5-5i §Q¥|.i| X
(B) BS-VI standards En'@— VI HIh
(C) 2G Bio-Ethanol 2-Sit &g TdHTa

(D) Gobar Gas MR g
Correct Answer Answer Description
C The Cabinet Committee on Economic Affairs, chaired by Prime Minister Shri Narendra Modi has approved the ‘Pradhan Mantri JI-VAN

(Jaiv Indhan- Vatavaran Anukool fasal awashesh Nivaran) Yojana' recently for providing financial support to Integrated Bio-ethanol
Projects using lignocellulosic biomass and other renewable feedstock.

TRAY, 2019 B onfifes ama ot e wfifa ¥ v off-a7 (&g SuF- TR oG d B SHaRIY AR Ae &Y Wi ueH
P 81 9P Sfafa T ualpd Sr-uaHTa ufkiiorelt 8 faia weredr &1 vrau §, s fRmiiegaifors s ok o Adieuia
Wigkeld S FaNT a1 T 8|

Question No 88

Marks: 1.33 Minus Marks: 0.44

Which of the following states does/do NOT touch the boundary of Meghalaya?

1. Mizoram
2. Tripura
3. Assam

Choose the correct option -

FProff@d & SH-91/3 g furey @) G &) e 78 H3dr 8/ HRa 87

1. freiRe
PRERN
3.3 H
T fawed & -
(A) 1 and 2 only ag 1 3R 2
(B) 2 only %ad 2
(C) 2 and 3 Only Had 2 3R 3
(D) 1 and 3 only Fad 1 3R 3
Correct Answer Answer Description
A Meghalaya shares its boundary in India with Assam state only. The state is bounded to the south by the Bangladeshi divisions of
Mymensingh and Sylhet, to the west by the Bangladeshi division of Rangpur, and to the north and east by Assam.
AuTer, Had 3 I e e HRa1 31

Question No 89

Marks: 1.33 Minus Marks: 0.44

Find the correct matches of the Rivers with their Source location :

1. Krishna - Mahabaleshwar
2.Narmada - Betul District
3. Kaveri —  Brahmagiri

Choose the correct option -

Y BT I ITH Rl & 1Y et Gher T PN :

1.PUT - TEEAR
27 e - Sqa frar
3FEY - FEAR
e faped &Y -

(A) 1 and 2 only Had 1 3R 2



(B)2and3onlyaﬁ?123ﬁ\73
(C) 1 and 3 only Fad 1 3R 3
D) 1,2 3aldt 1,23

Correct Answer Answer Description

C River and their sources:
Krishna — Mahabaleshwar
Godavari - Near Trayambakeshwar
Kaveri — Brahmagiri
Narmada — Amarkantak
Tapi - Betul District
REl - ST RIS
Eal - BEEREN
RIEAED] - EEEZN
B - CRIOIN
a1 - SFREBCH
ardt - EGEARK

Question No 90

Marks: 1.33 Minus Marks: 0.44

Rajghat Dam is located on which of the following Rivers?

3oreTe Sy i Afeal § @ fre W eafud 82

(A) Son River T &t

(B) Ken River 3 Tel

(C) Chambal River aa
(D) Betwa River EGCIEE]

Correct Answer Answer Description

D The Rajghat Dam is an inter-state dam project of the governments of Madhya Pradesh and Uttar Pradesh located on the Betwa River.

TSTITE S A YSR UF STR SN Iod! B Ueb RIS aie gRaToHT 8, S S/aar el R fRd 81

Question No 91

Marks: 1.33 Minus Marks: 0.44

Which of the following give Red color prominence in red Soil?

e g1 B ara 3 fafafad # @ fraet Sufifa & sRu a2

(A) Iron oxide TR 3173:8133

(B) Silica fferesT

(C) Aluminium oxide TegfiaH SHiaAES

(D) Humus ggHA

Correct Answer Answer Description

A Ancient crystalline and metamorphic rocks are rich in ferromagnetic materials and give rise to red soils on weathering. The red colour of

these soils is due to ferric (Iron) oxides occurring as thin coatings on the soil particles.

A e & o1l T, 3R H{IgS & HRU S Ehell B

Question No 92

Marks: 1.33 Minus Marks: 0.44

Consider the following statements :

1. Regur have low moisture holding capacity



2. Regur soils are also known as Black soils
Which of the above statements is/are correct?
Fafafed Fu R faeR i :

1. YR &1 BV STl YROT &7l HH 3 |
2. R 1 ) el gaT $ T § +ff ST e 81

ST A Y BT/ U T /R

(A) 1 only Had 1

(B) 2 only %ad 2

(C)Both 1 & 2 & 1 3R 2

(D) Neither 1, nor2 9@l 1,98t 2

Correct Answer Answer Description

B Regur soils which are also known as Black Soils found in Deccan Basaltic region have high moisture holding capacity. Hence statement 1
is wrong and statement 2 is correct.

TR &1 1 H1eht ga 2 Fud €, 9 GIH STee &7 H UTE e 81 3T 3ife ST U5 R P & el 3

Question No 93

Marks: 1.33 Minus Marks: 0.44

Alluvial Fans are distinct features of which of the following region?

Sreite v e & 9 fra am o1 falkm wamr 32

(A) Deltaic Regions I &
(B) Terai Region ?Wl'sE &%T

(C) Deccan Plataeu qdh- USRR
(D) Bhabar Region HTeR &

Correct Answer Answer Description

D The bhabar is a narrow belt, about 8-16 km wide which runs in the west-east direction along the Shiwalik foothills. It is a porous, northern
most stretch of Indo-Gangetic plain. Rivers descending from the Himalayas deposit their load along the foothills in the form of alluvial
fans. These alluvial fans (often pebbly soils) have merged together to build up the bhabar belt.

TR & Rranferes fifkare &7 & AR 8-16 e, 91 ug) & tha gon 71 < Riaifees &1 waig wa Hf st Srar g1

Question No 94

Marks: 1.33 Minus Marks: 0.44

Consider the following statements :

1. The Bangar is the older alluvium along the river beds.
2. The Khadar is composed of newer alluvium and forms the flood plains along the river banks.

Which of the above statements is/are correct?
FafaRad sy R AR i :

1. SR, T} 3UaTE & & WY YR W el RET Seligd |
2. WIeR, U Sdlgd I S8, S -1} de b 1Y & o1 AeT ol AT Hdr 31

Suded § A HH-T1/A BYT L /87

(A) 1 only Had 1

(B) 2 only %ad 2

(C) Both 1 &2 1 3R 2

(D) Neither 1, nor 2 1, 7§ 2

Correct Answer Answer Description

C The Bangar is the older alluvium along the river beds forming terraces higher than the flood plain. It is generally dark in colour.. The
Khadar is composed of newer alluvium and forms the flood plains along the river banks. The river banks are flooded almost every year
and a new layer of alluvium is deposited with every flood. This makes them very fertile.

Wa@ﬁ@;ﬁaﬁmﬁﬁﬁﬁ@ﬁwm%?ﬁﬁaﬁmaﬁﬁwawm%ﬁmﬁﬁwmﬁﬁﬁﬁaﬁﬁm
Tle Hgad g



Question No 95

Marks: 1.33 Minus Marks: 0.44

These soils are mostly the end products of weathering. They are formed under conditions of high temperature and heavy rainfall with alternate wet and dry periods.
Heavy rainfall promotes leaching of soil whereby lime and silica are leached away and a soil rich in oxides of iron and aluminium compounds is left behind.

Which of the following soils are being talked about above?

Y YTy ABIIG: 3Ue” H BRI Sl &1 A HA: b 7 Fo gl &, a1t arg o i) ot SRt fRuferalt & Ror st 81wt awf ger & e &) sgrd 8, R
A1 AR FferepT oY FRenfera 81 o § 9k g silarss ud vegfifaw dfiie! § gad qer e it 31

frafifa 7 3 fod e & S W B T 77

(A) Red Soil aTel HaT

(B) Regur TR

(C) Laterite soil AeRTSE
(D) Alkaline soil &1 T

Correct Answer Answer Description

C The above paragraph describes Laterite soils. They are utilized for Building material. Laterite soils lack fertility due to intensive leaching.
When manured and irrigated, some laterites are suitable for growing plantation crops like tea, coffee, rubber, cinchona, coconut, etc.

ARTZT a1 I ATuA 3R Ui vt 3 & W AR gt §1 3 Yent Iwisfesdia auf & HRu1 gu da Fema o1 ufkomd g1 st & @y g
3R fferest ot Fenfera 21 91 8 qut g & siags oiR Tegfifam & DfTe! | 4R 7eTd 9 38 Sl B

Question No 96

Marks: 1.33 Minus Marks: 0.44

Which of the following is the predominant soil in Malwa Plateau?

TTedT R B fafoied & 9 f5g g1 a1 gurar g2

(A) Red Soil dTel Hal

(B) Black Soil STef Har

(C) Alluvial Soil STeG TaT
(D) Laterite soil TORTZE FaT

Correct Answer Answer Description

B The Malwa Plateau comes under black lava soil region of Deccan Trap. The parent material for most of the black soil are the volcanic
rocks that were formed in the Deccan Plateau.

TTETA USR BT UE el Hielt e 81 59 Ger &) Ridr &) o siaxaedl gl 8, Fife ag TH Ak IR @l g

Question No 97

Marks: 1.33 Minus Marks: 0.44

Which of the following state have the largest area of Alkali soil in India?

yRa # Fafea & ¥ few sa & ey ge1 &1 waifis &8s 37

(A) Uttar Pradesh 3t e

(B) Gujarat T[oRId

(C) Madhya Pradesh H& Tie=T

(D) Haryana g

Correct Answer Answer Description

A According to the report of Central Soil Salinity Research Institute, Karnal (Haryana), in India, 3.77 million ha (M ha) area is alkali. Uttar

Pradesh having the largest alkali area of 1.35 M ha accounts for 35.75 per cent of total alkali affected area followed by Gujarat (14.36%),
Mabharashtra (11.21%), Tamil Nadu (9.41%), Haryana (4.86%) and Punjab (4.02%). These six states are having about 80% of the total alkali
lands of India.

HIg TSI AU SR YR HAT, gm0 Bt Ul & AR, ITR U 1 aifies & (1.35 MAfre 39eaR) & garsh d gaa 81



Question No 98

Marks: 1.33 Minus Marks: 0.44

Which of the following crop enriches Nitrogen content in the Soil?

frafifd 7 § - Baa g1 & TTEeer oiw 3 9fg Bt 87

(A) Sorghum SaR
(B) Potato 3Te],
(C) Sunflower YXSTHET

(D) Clover foafoar arg
Correct Answer Answer Description
D Clovers are a group of plants in the legume, or pea, family that have the ability to enrich Nitrogen content in the Soil.

fraferan urg ger & Ageio 3w @t gfg B 81

Question No 99

Marks: 1.33 Minus Marks: 0.44

Which of the following animals go under hibernation during winters?

1. Bears
2. Bats
3. Rodents

Choose the correct option :
Frofared & $H-91/3 oig o & 2t & Rufa & 7a 91 8/87

1. HI

2. IHES

3. P (HRA a1 Sia)
TE fawea B A -

(A) 1, 2 only Had 1, 2
(B) 1 only %ad 1
©1,23all 1,2 394

(D) None of the above G'tréaaﬁaﬁé:lé’r

Correct Answer Answer Description

C All of the above animals go under hibernation during winters. Hibernation is a state of inactivity and metabolic depression in endotherms.
Hibernation refers to a season of heterothermy characterized by low bodytemperature, slow breathing and heart-rate, and low metabolic
rate. It most commonly occurs during winter months. Hibernation functions to conserve energy when sufficient food is unavailable. To
achieve this energy saving, an endothermic animal decreases its metabolic rate and thereby its body temperature.

fdfeT a8 sra B, wel g =g fiban €1t €, U Herd: Wid g # S1d 8 1 ST Sieri gR A A 5 ot 8, SR Mg,
THMES, HFH, WY, Fdd (PR ardl ona) Mfe|

Question No 100

Marks: 1.33 Minus Marks: 0.44

The marine animal Dugong is -

et off g &-

(A) An amphibian T SHITR
(B) A mammal WWW

(C) A bony fish T SfRa H=

(D) A shark T b

Correct Answer Answer Description

B The dugong is a medium-sized marine mammal. The dugong is the only strictly herbivorous marine mammal. The IUCN lists the dugong

as a species vulnerable to extinction.



ST (ST HeaH SHMHR BT STeid WU 8, S JUid: AMBTERT STehy Ter) 81 39 oms g a. gRT SrgRfare Soft & war man g1

Question No 101

Marks: 1.33 Minus Marks: 0.44

Montreux Record is related to which of the following international treaty/convention?

A Rl Faffed # 3 f5a siamgia 9ft/e<aee 3 Jefia 82

(A) Ramsar Convention IR HA

(B) UN Convention on Biodiversity 9id fafedr tR ¥ged g 434

(C) UN Convention to combat desertification TIRTB WW 1Y BT

(D) UN framework convention on climate change STdiarg TRacH TR G Y ORET H-a==

Correct Answer Answer Description

A The Montreux Record is a register of wetland sites on the List of Ramsar wetlands of international importance where changes in
ecological character have occurred, are occurring, or are likely to occur as a result of technological developments, pollution or other
human interference.

AR RIS, SHRRIPT Hewd BI IR MYl 31 e H T My el 31 U I0RER &, e TikiRufares sirervr 7 wenfie! e,
TGN AT 37 A gRaat I uRomrRaeY uRac g3 3 A 8l e B

Question No 102

Marks: 1.33 Minus Marks: 0.44

The concept of Green House Effect was postulated by which personality?

I T3 UHTT F1 JbeUT b TP gRT UfquIied Bi 7152

(A) C.C. Park T &}, Ut

(B) J.N.N. Jeffers SITA.TH, e
(C) Joseph Fourier A% BIRER
(D) L. Zobler Td. SaaR

Correct Answer Answer Description

C Joseph Fourier postulated the concept of Green House Gases in 1824. He was a French mathematician and physicist.

4 8199 19 1 S(EuRUN HiERf 37 St BIRGR gRT 1824 5. 7 i 718 ot

Question No 103

Marks: 1.33 Minus Marks: 0.44

Which of the following is correct description of initiative MANAV?

HFd (MANAV) Tgd HT I8 faaror Fafifaa # @ s 2

(A) It is an attempt to create an open and interactive atlas of human biologyﬂﬂaﬁﬁaﬁw%@?ﬁfa WW%WWW
(B) It is a device to enable automated scavenging Wﬁaﬁwwﬁgwm

(C) It is a web portal for intimating child trafficking amwﬁaﬁw%géa-théa

(D) It is an application for detecting HIV/AIDS Td. 3118 dY/TSH T U @M 8¢ T IaRT

Correct Answer Answer Description

A Manav-Human Atlas Initiative aims to construct a comprehensive map of the entire human body which will explicitly document macro to
micro level information. Department of Biotechnology (DBT) has launched this initiative, towards improving knowledge on human
biology.

e IRR & Tt SHad! & SNUfdes Aedd HT UBIPHd ST dUR 6 Ud AMHd IR 3T SRV Bt T iR U R4 & S8 9
S9- W} faHT 3 H-a He T T4 AId Teey Ugd o | fhar g1



Question No 104

Marks: 1.33 Minus Marks: 0.44

Which of the following is correct about ‘Param Shivay'?

1. It has been built under the National Supercomputer Mission (NSM).
2. Center for Development of Advanced Computing (C-DAC) has developed the supercomputer ‘Param Shivay' of 833 teraflops capacity.

Choose the correct option -
e Rate & e # Feffea A Y s 9a &7

1. 351 fAmfor P gRGEeR iR (NsM) & ded far mar g1
2. Yex R SIATHE 3T TSI ST (H1-3F) 7 833 RTTAT & aTd YIRS TR IRY Rrara &t fawfa fFar g

e ey o -

(A) 1 only Had 1
(B) 2 only Had 2
(C) Both 1 and 2 1 3R 2 G

(D) Neither 1, nor 2@ 1,78 2

Correct Answer Answer Description

C Prime Minister Narendra Modi on February 19, 2019 inaugurated 'Param Shivay' Supercomputer of 833 teraflops capacity built at the cost
of Rs 32.5 crore under the National Super Computing Mission at [IT-BHU. Center for Development of Advanced Computing (C-DAC) has
developed the supercomputer 'Param Shivay'.

T TR A 19 AW, 2019 B IT-BHU H T YRS AR v F ofavia -3 gR1 f¥omee w4 ffifa R Rt gReweR &1
SrpTor fora, Tt Siftiras UM &raT 833 SRIUATW § 3R 39 fAffa 37 & 32.5 HRIS T3 &t T offs 31

Question No 105

Marks: 1.33 Minus Marks: 0.44

The Lean NO, Trap (LNT) and a Selective Catalytic Reduction (SCR) system are related to which of the following?

o NOy 2T (LNT) 3TR Teh oTaTeh AR U= (SCR) TuTel fafeiad & fra weifdd 82

(A) Emission Control modules under BS VI Norms BS VI A & 3faifd Ieei Ha=0r ATeyd
(B) New Cryogenic modules in GSLV Mk 11l GSLV Mk Il & faTe =11 sriaif~es Hiega
(C) New Cryogenic modules in GSLV Mk Il GSLV Mk Il & ToTQ =11 Sritsifes Area

(D) New devices used in SAFAR (System of Air Quality and Weather Forecasting And Research) SAFAR (T I[Urdil 3R T tﬁfﬁﬂﬁ T4 3HY yoret) & Tgad T
FUD

Correct Answer Answer Description

A Lean NOx Trap (LNT) and a Selective Catalytic Reduction (SCR) system are related to emission control modules under BS VI Norms.
Instead of adopting superficial remedial measures, automakers have to go to the root of the problem and eradicate it. It involves working
on the engine as well as the treatment of pollutants after the combustion process. Particulate filters are the ideal devices to reduce PM
emission caused by direct-injection fuel engines. Selective Catalytic Reduction (SCR) system or a Lean NO, Trap (LNT) can tackle the
challenge of nitrogen oxide emissions in diesel engine-driven vehicles. LNT eliminates NO, by filtering it out, whereas SCR employs a
different method to reduce nitrogen oxide emissions. The procedure involves injecting a water-based urea solution named AdBlue into
the exhaust flow.

o NOX U (LNT) a1 Fo-TeTd IERe U= YUITeh STey-VI AT & SHavid Sodol (e Afegd ¥ Jafid §1

Question No 106

Marks: 1.33 Minus Marks: 0.44

Lord Brahma performed the Yajna for creating the universe at which of the following places?

Fafafad =l & ¥ $gl IR 510 7 Feiis & or & fog 7 far um

(A) HaridwarBﬁ@T\T
(B) Ujjain &I

(C) Nasik TTTRIB

(D) Prayagraj WATRRTS




Correct Answer Answer Description

D In Prayagraj, Lord Brahma, one of the three Gods of Hindu trinity is believed to have performed 'yajna’ to purify the atmosphere when he
created the universe. Hence the name Prayag -"the place of purification".
eft et § o st Sff A Sgiie & Yo & SR aTaiaRyl &1 g R & o0 JarRIe! § 3 fosa o1 St SR 39aT 918 T ue, forest
31 B- ISR BT R |

Question No 107

Marks: 1.33 Minus Marks: 0.44

Which of the following places have been selected as nodes for the UP Defence Industrial Corridor?

1. Agra

2. Kanpur

3. Chitrakoot
4. Jhansi

Choose the correct option -
ol & 3 HH-3 A ST U= H Y& SN TiermR 3g ol () & T U H AT E?

1. ART
2. PR
3. femge
4. 4!

et fawen B -

(A) Only 2 and 3 a2 3R 3

(B)Only 1,2 and 3 had 1, 2 3R 3
(C) Only 1 and 4 Haa 1 3R 4

(D) All1,2,3and 41,2, 3 3R 4 ft

Correct Answer Answer Description
D The Government has identified the following nodes for UP Defence Industrial Corridor:
1. Agra 2. Aligarh 3. Chitrakoot 4. Kanpur 5. Lucknow 6. Jhansi
T WRBR GRT IR T H & 3NN TiRraR 3g Faffad Rt & e (Nodes) & &0 § T 1T 8:
1. 3T, 2. 3(ciTg, 3. ”RAGE, 4. FEGR, 5. TTAS, a1 6. ™|

Question No 108

Marks: 1.33 Minus Marks: 0.44

The S-400 deal is between India and which of the following countries?

S-400 HSNAT YR SR Fafafed & 9 frw 3w & g gem

(A) Russia =9

(B) Germany SHA

(C) USA ST

(D) Australia 3fieferar

Correct Answer Answer Description

A Russia will provide S-400 defence system to India. India signed a deal in October 2018 with Russia to purchase 5 squadrons of S-400
Triumf surface-to-air missile defence system.

F9, HRA B S-400 & TR SUAS PRI YR = SR, 2018 H T Y Td6 U 59T H AR B dTeiT HEURG & T S-400 THH P 5
W1 B Tl g GrEiar fasa A

Question No 109

Marks: 1.33 Minus Marks: 0.44

Which city has been named as the World Capital of Architecture for 2020 by UNESCO?
AT GRT Y 2020 & AT aRgeHan &1 Afyes oy i 2rex 1 Ay fosan e 72

(A) Istanbul E'K‘I'I@?I



(B) Rio de Janeiro ey € s

(C) Paris U
(D) London T

Correct Answer

B

Answer Description

UNESCO has named the Brazilian city of Rio de Janeiro as the first World Capital of Architecture for 2020. Rio de Janeiro, will host the
2020 World Congress of Architects. Rio has a mix of modern and colonial architecture.

TAH] RT SToie & R S SARal WeR B I8 2020 3G IRGHAT BT Ugal A oty D faar wan g1 Rl € Safkar argfaet st 2020
3! fay O &) Aoar ff e Rar F ey iR sufafRies ardee 1 o =B a giar g1

Question No 110

Marks: 1.33 Minus Marks: 0.44

Which of the following is not one of the principle components of the umbrella scheme Pradhan Mantri Annadata Aay Sanrakshan Abhiyan (PM-AASHA)?

Froferiaa & 3, S AT YT SrETdr S TR S (FH-311=) B U% IR Ued 6l 87

(A) Price Support Scheme (PSS) Ted T&TIdT HTIHH (PSS)

(B) Price Deficiency Payment Scheme (PDPS) ?Td gl H‘Taﬁtﬁﬁl:ﬂ (PDPS)

(C) Per Drop More Crop (PDMC) Ufd §g, 3ifi& ®aa (PDMC)

(D) None of the above m{aaﬁﬁs‘%“r

Correct Answer

C

Answer Description

The Government has taken another giant leap towards boosting pro-farmer initiatives with the recent approval of the umbrella scheme
Pradhan Mantri Annadata Aay SanraksHan Abhiyan (PM-AASHA), that is aimed towards ensuring remunerative prices to farmers for their
produce. The three components outlined under the scheme is thus aimed towards enhancing agricultural productivity, reducing cost of
cultivation which will enable boosting and securing farmer’s income in the long run. These are:

1.Price Support Scheme (PSS)
2.Price Deficiency Payment Scheme (PDPS)

3.Pilot of Private Procurement & Stockist Scheme (PPPS)

far-gude yga &) Yaftid &= @1 i & $% PR A T 3R 581 HeH Io1d §U BT &1 H 3faiet ToHT TET Srferdr ST TRe0
ST (PM-AASHA) BT Wiiesfa €t B, et I8 forami &1 371 ScTal o1 AIHSRT I GAfd 31 § | 59 TiorT & dgd mid 3
Yeoh-HiY ITCHAl TG IUT Tt BT AN HH B & 1Y Y H1d | A o7 o Gaffa v R Higd §1 3 ves §-

1. T T IS (PSS)
2. AT B 4TI TISHT (PDS)
3. Foit Wi wd werferee s &1 Ui (PPPS)

Question No 111

Marks: 1.33 Minus Marks: 0.44

In which year, the Bharat Ratna Award was introduced ?

R ¥ GREPR 59 au URY gam

(A) 1952
(B) 1954
(C) 1953
(D) 1955

Correct Answer

B

Answer Description

The Bharat Ratna is the highest civilian award of the Republic of India. It was Instituted in 1954. The first recipients of the Bharat Ratna
was C. Rajagopalachari, Sarvepalli Radhakrishnan, and C. V. Raman, who were honoured in 1954.

URA Id YR BT Faied TRTRS REBR 8, o aef 1954 T Ty foman Tam| YRd I & Ugal UTedehd! &, IS aTames], Gaueeh ALTHOH
TUT FEIRR I 2, R af 1954 T a8 REHR werH 3w man |

Question No 112

Marks: 1.33 Minus Marks: 0.44

Which country conferred King Abdulaziz honour on Prime Minister Narendra Modi?



TYFHER T A} BT 359 =1 A 3T srega-srofie I yeH fFar g 2

(A) Saudi Arabia T3l 3RT

(B) UAE TS,

(C) Bahrain as'ﬂ?

(D) Qatar dX

Correct Answer Answer Description

A In April 2016, Saudi Arabia conferred its highest civilian honour -the King Abdulaziz Sash- on Prime Minister Narendra Modi. The award is

named after Abdulaziz Al Saud, the founder of the modern Saudi state.

Thal oRa 3 3fid, 2016 B YUTHAT TR TN} Y ST ated ARG THH-fobT fegd-Soitel QTR THIH Fel 3T S 3fdTS &l A
MY THeT MY & YRITUF egal- S S Tha b AT TR @ 7T 7

Question No 113

Marks: 1.33 Minus Marks: 0.44

From which date the PM-KISAN Scheme is being officially operational?
YT fHEM (KISAN) T g fafd & enfietiRe wu 9 Fenferd g2

(A) 01.01.2019 1 SFaRT, 2019
(B) 01.12.2018 1 fa¥isR, 2018
(C) 01.04.2019 1 37¥d, 2019

(D) 01.02.2019 1 THRaXY, 2019

Correct Answer Answer Description

B Pradhan Mantri Kisan Samman Nidhi (PM-KISAN) is a Central Sector scheme with 100% funding from Government of India. The Scheme is
effective from 1.12.2018. Under the Scheme an income support of Rs.6000/- per year is provided to farmer families across the country in
three equal installments of Rs.2000/- each every four months.

T frar T A (PM-KISAN) YRE TSR F 100 Ufard e areh Sefta &= aiem1 31 98 Ao 1 f38eR, 2018 A AR 53 1 39
IS & ded SR & Tt fora aRar! &1 Ufd a9 $d 6000 F. B ST TETIAT Ufl 4 T8 TR 2000/- F. B FH T foredl & IUa= IxT5
EIEGEE]

Question No 114

Marks: 1.33 Minus Marks: 0.44

Pradhan Mantri Shram Yogi Maan-dhan (PM- SYM) Yojana was launched recently by the Prime Minister at :

YA 2 AR AH-47 Qo1 (e -THaEuA) ST YHRY 819 8 8 TUE g1 fa ex 3 fvar mam

(A) New Delhi 77§ faeht
(B) Varanasi GRIOR

(C) Gandhinagar TR

(D) Mumbai H&§

Correct Answer Answer Description

E This question is excluded from the evaluation.

The Prime Minister, Shri Narendra Modi, on 5 March 2019, launched the Pradhan Mantri Shram Yogi Maan-dhan (PM-SYM) Yojana at
Vastral, Ahmedabad in Gujarat. This mega pension scheme ensures old age protection for unorganized Workers, whose monthly income is
Rs 15,000/ per month or less.

ToTd B1g W fahed Tt 7 81 P BRI I8 UY Tedich § STeR fbar T 8|

TerE R A A 5 97, 2019 B TR & SEHEINE & TRAd ATHE R J YU o1 Gt AE-4F (PM-SYM) FISHT 61 YURY fasar|
Tg BT U IS SRS &7 & HIERY, forast TR 3 15000 %, URHTE O §, & AT Jgmawn & TReon g st g1

Question No 115

Marks: 1.33 Minus Marks: 0.44




What is the amount of minimum assured pension after the age of 60 years in Pradhan Mantri Shram Yogi Maan-dhan (PM-SYM) Scheme?

AT 9 T AE-e Do & SicRTd 60 TS B 311G & YT <gAad U= 1R et gifya &t g 37

(A) Rs. 2000 per month . 2,000 UfdHTE
(B) Rs. 2500 per month %. 2,500 PIREI
(C) Rs. 3000 per month ¥. 3,000 UfcHTE
(D) Rs. 4000 per month . 4,000 QﬁTﬂ—s’

Correct Answer Answer Description

C It is a voluntary and contributory pension scheme, where each subscriber under the PMSYM, shall receive minimum assured pension of Rs
3000- per month after attaining the age of 60 years.

g U WS quT SIgH SR U= Ao 8 | Hud-THdRuA & d8d Ude Sferdr o1 60 a¥ B 31 guf dx- TR 3000 %. UAHTE
AT G U= O gRtt

Question No 116

Marks: 1.33 Minus Marks: 0.44

With reference to Ease of Doing Business Rankings 2020, consider the following statements :

1. India improved its ranking by 14 places.
2. India was among the Top-5 improvers this year.

Which of the above statements is/are correct?
T 3 o foerm e ¥, 2020 % TeH # fufafed Ful mfaar &% -
1. HRa 3 3 ¥bT & 14 R 1 uR a1 g |
2. YRd 39 9 ¥Y-5 YR yaor =i H =i or
STt H HH-T1/R FU T 3737

(A) 1 only Had 1

(B) 2 only %ad 2

(C) Both 1 and 2 1 3R 2 Y

(D) Neither 1, nor2 9@l 1, 9dl 2

Correct Answer Answer Description

A India's ranking in the World Bank Ease of Doing Business Index 2020 improved by 14 places to 63 and India was also among the top-10
progress-making countries. In Ease of Doing Business Index 2020, the 10 top improvers are Saudi Arabia, Jordan, Togo, Bahrain, Tajikistan,
Pakistan, Kuwait, China, India, and Nigeria.

3% ¥ 3 1 ofTth T Ao T3, 2020 H YR BT I T TEehR01 B AT & 14 R S GUR & WY 63 TR T T HRA MS-10
GYUR-Yqur T F iR 71 S7 3Tt g oo §3a, 2020 H 2-10 GUR-TATT 3 HH: §- TSl R4, Sife, A, w8, aififbwH,
I, Fad, =, YR SR ATt

Question No 117

Marks: 1.33 Minus Marks: 0.44

By which organization the Global Competitiveness Report 2019 was released?

e ufgeferedr RAIE, 2019 g TwT gRT Y @1 157

(A) World Bank 3% &

(B) International Monetary Fund GHT\"I'@'UHQTW
(C) World Economic Forum 3% anf¥fes #r

(D) UNCTAD 3f&eTs (UNCTAD)

Correct Answer Answer Description

C The Global Competitiveness Report (GCR) is a yearly report published by the World Economic Forum. Since 2004, this report ranks
countries based on the Global Competitiveness Index.

I ufcmauiarear Rulé (GeR) fay aniies w9 gR1 UebI1fRid &1 &M arell Te aiifes RUid &1 a8 2004 J, 39 RUIE & dgd af¥e
Uerufered Gaemie & MUR R 320 & Aufieg fFar srar gl

Question No 118



Marks: 1.33 Minus Marks: 0.44

Jerdon's courser, a critically endangered bird is endemic to which state of India?

TRET FI TH fel Yepeawd uelh §1 78 HRT & g I & U Sfreft 32

(A) Uttarakhand STRIES
(B) Andhra Pradesh Gﬂﬂm

©) ManipurﬂﬁTER

(D) Gujarat T[SIRTd
Correct Answer Answer Description
B It is a nocturnal bird found exclusively in Northern part of Andhra Pradesh. Sri Lankamaleswara wildlife sanctuary in Kadapa, Andhra

Pradesh is the endemic region for this bird. It is one of the world's rarest bird species and is classified as Critically Endangered (CR) by the
International Union for Conservation of Nature (IUCN).

Tg U R ueht B, S fafe w0 & sy ey & It T B R ST ¥ 3 U & et foral A U off AR asiia anReg 39
Tt 7 RIS &7 71 98 fay 3T gefHaw ueht yonfadl § 9 U § 99T 39 SeARAS g BR $HoRAR ST AER (IUCN) & gRT 3ifd
YepeId Tl & =0 H aiffpd fpar T g

Question No 119

Marks: 1.33 Minus Marks: 0.44

In which of the following rivers/lakes Gharial can be mainly found?

Fafafaa fel/she § 9 feun ofsar ger: ur o 87

(A) Chambal River dad Tt
(B) Kavery River ®Ta<} Tet
(C) Chilka lake foreeT Sitet
(D) Pulikat lake Gferebe it

Correct Answer Answer Description

A Gharial is found mostly in fresh water and Chambal river is the most significant habitat of Gharial as of now. IUCN status of Gharial is
critically endangered.

HFETTe TR g o | UTT ST § T aiA & Ja et afearet o7 aifie Heayul a9 ©IH ¢ | ufeard ol sdgwie gri sifa
Tepeud Joft B @1 T 3|

Question No 120

Marks: 1.33 Minus Marks: 0.44

Which of the following are categorised as invasive fauna in India?

1. Goldfish
2. Pigeon
3. Donkey

Choose the correct option
e & 3 frge! yra & s uggat 3 9ot & avifera fasar mn &7

1. e frer
PRCEENCZRR
3. 7T

et fawen &1 -

(A) 1 only Had 1

(B) 1 and 2 only Fad 1 3R 2
(C) 1 and 3 only Had 1 3R 3
(D) All of the above Bﬂéﬁﬁ ot

Correct Answer Answer Description

D Goldfish(Carassius auratus), Pigeon(Columbia livia) and Donkey(Equus asinus)-all three are categorised as invasive fauna. These invasive
animal species pose a threat to the biodiversity of the area and human welfare and safety, also harming the agriculture and biodiversity.



TS The (PRREY 3ikew), B (@ieifear it aur Tur (wogd WRFAw)- A A1 € 2pme ugat 1 4o § aifed feg e g1
SHTSHTES TR ISt Y $TR Sia fafaean 3 JoHam ugam & 9 Ad Rl Td QR&m aut 8 &1 9 fafaear & e & wavr Iaa o=t

Question No 121

Marks: 1.33 Minus Marks: 0.44

Consider the following statements :

1. All phytoplanktons use photosynthesis for their food.
2. Some phytoplanktons also consume other organism for additional energy.

Choose the INCORRECT statement(s)-
FrafaRad s R AR &1 :

1. ¥ UTCY Wiaeh 31T HIoH & T TehTr TLRINUT T UGN HRd B
2. $B UIeU Wad ifaRed St & e 3=y shat &7 3o oft aa §1

3R PHY/HU BT -

(A) 1 only Had 1

(B) 2 only %ad 2

(C) Both 1 & 2 & 1 3R 2

(D) Neither 1, nor2 9@l 1,981 2

Correct Answer Answer Description

D Like land plants, phytoplankton have chlorophyll to capture sunlight, and they use photosynthesis to turn it into chemical energy. They
consume carbon dioxide, and release oxygen. All phytoplankton photosynthesize, but some get additional energy by consuming other
organisms.

Ryl UTe Tl Bl R, UIGY WA (WIEeIber) B JaRIthd Sial 8 TT 3 UehTRT IRANT &1 Ufsha I T &1 UhT=r it ol Irafes St o
Rafdd #Ra § 1 I B STATRIZS BT SUHIT B HTafio FHad B § | G Iey w@aeh 30 s & foT UhT=1 TRATr &1 JughT
TR €, T 8 UIey was ifaikad Sl & R o shal &1 JuHT ot avd B

Question No 122

Marks: 1.33 Minus Marks: 0.44

To be selected as Hot Spot, a region must have which of the following condition?

glcwic & ®U § Taid g1 & et &7 &1 Faffed & 3 e 2d &1 @1 6= sitawass 82

(A) It must contain at least 1500 species of vascular plants as endemics gl WW@W&@E‘TW—@—W 1500 Wlﬁlﬁlﬁﬁl
(B) It has to have lost at least 70% of its original habitat J81 TR 3MTaRI% U I Yd WTHTad arf &1 HH-J-HH 70% N g & IH1

(C) Both A and B must satisfy STJad A 3R B &1 BIFT 31T ¢

(D) None of Aand B is sufﬁcientB’q?iaﬁA 3R Bf{@fﬁ%qﬂfﬂqﬁ%l

Correct Answer Answer Description

C To qualify as a biodiversity hotspot, a region must meet two strict criteria: it must contain at least 1,500 species of vascular plants as
endemics, and it has to have lost at least 70% of its primary vegetation.

g fafaerr glewdie & wu & 9afd g & 1T, e &5 31 37 &l THGS] 3 IR HRAT STI=TH ¢ : Ig1 IS & I Jag-ig urelf 3t 8-
J-FHH 1500 R ToTfea 8 quT 981 W AaRTH 0 J T WIhfad IR o1 HH-Y-FH 70% HFT g g1 o1 81|

Question No 123

Marks: 1.33 Minus Marks: 0.44

The National Animal Disease Control Programme(NADCP) aims towards eradicating which of the following diseases in the livestock?

1. Foot and Mouth Disease (FMD)
2. Brucellosis
3. Anthrax

Choose the correct option-
Y Uy 3T T BRI (NADCP) 1 I5%d UeH H g1 aret fafrfera It & & forgest/fortent e S 32

1. GRUST - GEUHT I (FMD)
2. gRAR™
3 W



g facbed 1 -

(A) 1 only Had 1

(B) 1,2 only Faa 1 3R 2
(C) 2,3 only Fad 2 3R 3
(D) 1,2,3 all 1,2, 3 9+t

Correct Answer

B

Answer Description

Prime Minister Narendra Modi launched National Animal Disease Control Programme (NADCP) on 11 September 2019 from Mathura in
Uttar Pradesh. The NADCP aims towards eradicating Foot and Mouth Disease (FMD) and Brucellosis in the livestock.
TUFHE g A T 11 RITaR, 2019 31 IR UG F TR o7t F I g T FEA01 SRIHH (NADCP) T THRY {35211 TeSeid: &1
I YA B §H AT0 WRUSDT-HUHT T (FMD) TUT TR 7T & ST 3 BT A1 3 |

Question No 124

Marks: 1.33 Minus Marks: 0.44

What is the eligibility age for Small farmers to be part of Kisan Man Dhan Yojana?

AT -4 TieFTr o e 89 & RO B [ /g ST 3y . 82

(A) 20-60 years 20-60 9§
(B) 20-40 years 20-40 T
(C) 18-60 years 18-60 %
(D) 18-40 years 18-40 T

Correct Answer

D

Answer Description

This scheme is voluntary and contributory for farmers in the entry age group of 18 to 40 years and a monthly pension of Rs. 3000/- will
be provided to them on attaining the age of 60 years. The farmers will have to make a monthly contribution of Rs.55 to Rs.200,
depending on their age of entry, in the Pension Fund till they reach the retirement date i.e. the age of 60 years.

T AF-47 ST 18 T 40 99 P 31g & i & fou Wiese iR siRrar s Do 81 $9% dgd 60 IY Bt 3G & UTd fBar &
TS 3000 . U 37 BT UG § | 9 TSI BT ATH YT IR P 178 b= 1 o & 2fiet 8 B 3G & YR TR WAHTg 55-200
¥. & S AN S BT

Question No 125

Marks: 1.33 Minus Marks: 0.44

Where is the headquarter of Asian Development bank?

RS e Y& &1 greey F5i 87

(A) Beijing ST
(B) Manila F=itaT
(C) Tokyo Srat
(D) Hanoi &%

Correct Answer

B

Answer Description

The Asian Development Bank (ADB) is a regional development bank established on 19 December 1966, which is headquartered in Manila,
Philippines.

R fIe™ 3% Ue &Eit fawra § §, forge! RIeT 19 fGUeR, 1966 &1 @1 TS ot | 30T gRearery el & weften & 81

Question No 126

Marks: 1.33 Minus Marks: 0.44

Recently Union Home Ministry declared 4 persons as Terrorists under the Section 35 of Unlawful Activities (Prevention) Act, 1967. Who was not among them?

11 €1 9 el g e A Rl nfofaft (Rive) sifdfvad, 1967 3 a1 35 % Sfarfa 4 safaadl @ sirdeardt S fosar 31 Fofafed & o1 soF it 76 82

(A) Masood Azhar HYg 3{5g}

(B) Hafiz Saeed BIfthol T3g



(C) Saiyed Salahuddin ﬁmﬂla §§f |
(D) Dawood Ibrahim &3¢ S§TeH

Correct Answer

C

Answer Description

The Ministry of Home Affairs (MHA) issued a gazette notification recently, declaring the four individuals as ‘terrorists’ under clause (a) of
sub-section (1) of section 35 of the Unlawful Activities (Prevention) Act (UAPA), 1967. These are Jaish-e-Mohammad (JeM) chief Masood
Azhar, Lashkar-e-Taiba (LeT) Hafiz Saeed, his deputy Zaki-urRehman Lakhvi and underworld don & 1993 Mumbai serial mastermind
Dawood Ibrahim.

BTA 81 H iy g TATad = TToie SRgET IR} &R, 4 Sfaaall &Y TR-s0 iafafemi (Riuw) siftf gy, 1967 &1 4RT 35 3 SU-URT (1) &
TS (a) P d8d ‘3Bl DT fbar 21 3 ol € : IW-T-GeHIe (JeM) BT THE TG 3IOTeR, TXH-U-a9T (LeT) P Bithe] T3g 3R IHbT
JUTRT Teh1-3R-IGHI TrRadt quT a 1993 & Has HRTd 91-fahie T AReHES 3/SaT S ardhe, S|

Question No 127

Marks: 1.33 Minus Marks: 0.44

Recently State Rooftop Solar Attractiveness Index (SARAL), was released by -

BT g1 H W FWe AR ffFead SSRT (SARAL) fordiar gRT oY o mrame

(A) Ministry of New and Renewable Energy:l'fﬁq 3R Tdiolig Seit TR

(B) NITI Ayog -HifcT ST

(C) Power Grid Corporation of India Limited iR frg SraReH WE’%@TW@
(D) Bureau of Energy Efficiency 4 EWW

Correct Answer

A

Answer Description

On 21st August, 2019, The State Rooftop Solar Attractiveness Index (SARAL) was launched by Union Minister of State for Power and New
& Renewable Energy(IC) RK. Singh. SARAL has been designed collaboratively by the Ministry of New and Renewable Energy (MNRE),
Shakti Sustainable Energy Foundation (SSEF), Associated Chambers of Commerce and Industry of India (ASSOCHAM) and Ernst & Young
(EY). Karnataka has topped the SARAL index, which evaluates the Indian States on the basis of their attractiveness for rooftop solar
development.

21 37T, 2019 HT B faggd qur T IR Tdiavuig Soif o T (@ UHR) 3R.F. Rig 7 Ve et TR fdea T S8/ (@R)
Y 35T | TR (SARAL) JaSIeh &l FdI 3R Fdtaulia el Harer, qifdd Te-ad Ul Br3SxH, THEH qul $ve U8 T gRT e
o foran T 81 I Yaehies YR oA T 3% GRT Bl IR IR Ial & T & e 10 Iurll F 3R R Heuic &Rl g1 Hlcd
B WA Gahic & 2 R U gan 1

Question No 128

Marks: 1.33 Minus Marks: 0.44

What is Tejas in the context of Indian's Defence equipments?

HRAT & ITEHRI &b T § dorg o1 22

(A) Air to Air Missile W—@—Wﬁ RS JAURA

(B) Light Combat Aircraft el TSTH foum=

(C) Ultra-light Howitzer H@T—?ﬂ%—i%ﬁm

(D) Artificial Intelligence enabled drone(UAV) $fW g QT:R‘[@:[ @gudh

Correct Answer

B

Answer Description

Tejas is an Indian single-engine,supersonic multirole light combat aircraft designed by the Aeronautical Development Agency and
Hindustan Aeronautics Limited for the Indian Air Force and Indian Navy.

ERT HRAT a1g 31 T HReTg T1 & o fewirg= fran man 71

Question No 129

Marks: 1.33 Minus Marks: 0.44

Tejinderpal Singh Toor is associated to which sports?

AfsTeRuTa e TR frw Ba & weifia 77




(A) Wrestling Q)—Q?ﬁ

(B) Table Tennis o9d g

(C) Shot Put iTe ge (e tha)
(D) Boxing it

Correct Answer Answer Description

C Asian Games gold medallist shotputter Tejinderpal Singh Toor clinched a silver with a best throw of 20.09m in his last attempt during an
athletic meet in August 2019 at Decin, Czech Republic. Tajinder was awarded with Arjuna Award in 2019.

RS Wt & W0l UG o e % wuelie dfsierura Rig TR A R, 2019 B 9% TURTSY | g8 Tydfea Wl & 20.09 e 3 Hb
T U 10 AT o | fieRaTd &1 2019 & 3o [REPR | T fopa mam 31

Question No 130

Marks: 1.33 Minus Marks: 0.44

Which gas is used in making chloroform at industrial level?

NP TR R FARIBHE Idre- & f5g 719 o7 y@nT i Siar 82

(A) Methane [T

(B) Propane o

(C) Butane ¢

(D) Acetylene Q@ﬁ?ﬁ?

Correct Answer Answer Description

A At industrial level production, chloroform is produced by heating a mixture of chlorine and either chloromethane (CH;Cl) or methane
(CHy).

NP TR W, FARIBH &1 00 TR P WY a1 a FARMAT (CH3Cl) T A (CH4) & 907 &1 77 s e ST 3|

Question No 131

Marks: 1.33 Minus Marks: 0.44

Name a technique which is used for separating two or more dissolved solids which are present in a solution in very small quantities?

e T & 1ot & HEeh ¥ ga gU el a1 3ifiie 31 el %) gyt S 2 UgH B el debich el 8-

(A) Distillation 3TdT

(B) Centrifugation W

(C) Crystallisation forediamRur
(D) Chromatography Eaeapil

Correct Answer Answer Description

D Chromatography is a laboratory technique for the separation of a mixture. The mixture is dissolved in a fluid called the mobile phase,
which carries it through a structure holding another material called the stationary phase. The various constituents of the mixture travel at
different speeds, causing them to separate.

HIACHITE! T 901 & U] &) gy P 3 Uga 81 aTel TRITRITeT de-ie & | 395 U 5d § ga gen iy e wRu § g 8, Ry
T Tforar & RR =T & A o1 8 | Rrsror & fafi geds Sia- e fadt ¥ Iad 8, foriss ey 3 gUed 81 9 ¢

Question No 132

Marks: 1.33 Minus Marks: 0.44

Which metals can be cut using knife at room temperature?

Fraffad urgeli & 4 fege! R % dITHM W =1 § BIel o Febdl 82

(A) Sodium HITETH

(B) Potassium UreRkEs

(O) Gallium Tferr

(D) All of the above ijaa ot




Correct Answer Answer Description

D All of the above metals are soft enough to be cut with a knife at room temperature.

Iuderd gt e 3ot 7 B € o I R & AIOHE R 1g & el o Geba 81

Question No 133

Marks: 1.33 Minus Marks: 0.44

In which animal a Three-chambered heart is found ?

A e T ged fobw Sig o UTT S 82

(A) Pigeon hgdr
(B) Lizard fesubat
(C) Fish TI@t

(D) Lion ¥R

Correct Answer Answer Description

B Among the given options Lizards have a three chambered heart with left and right atria and a single ventricle. Pigeons have four-
chambered heart, Fish have two-chambered heart. Lions have four-chambered heart.

UeTd fachedt 3 fyumelt & a10 31R <1 aifefe o U Fera & W1y - el aTell g2 2T 81 HeR # IR-beflg, Hoeh & f§-wefa aur 2R
HIR-Fefa geg T gl

Question No 134

Marks: 1.33 Minus Marks: 0.44

Which component of blood does the coagulation of blood?

T 1 e W6 F [ UcH gRI gl 7

(A) WBCs & 3 SHUTIT (WBCs)
(B) RBCs Tt & HIOMBTY (RBCs)
(C) Platelets lﬁzaw

(D) Plasma TITSHT

Correct Answer Answer Description

C Coagulation, also known as clotting, is the process by which blood changes from a liquid to a gel, forming a blood clot. It potentially
results in hemostasis, the cessation of blood loss from a damaged vessel, followed by repair. The mechanism of coagulation involves
activation, adhesion and aggregation of blood platelets, as well as deposition and maturation of fibrin.

Tad BT Whed, SR yamT e ot gd €, 1 ifthan W Yo 59 § Sieha 0 uRafid §ibR Yad BT 4aHT ST § | I8 Uitk aifovrd wad
Tﬁql%‘—ﬁ%wﬁaﬁﬁ%ﬁao—cﬁ%m%mm%lwgvn?ﬁﬁwﬁzamamﬁmmﬂmmamw$wumqmﬁw
RUe e g gl

Question No 135

Marks: 1.33 Minus Marks: 0.44

Excessive release of thyroid hormone in human body causes :

g IR F YGRS gTAMH o1 Hfoard fhgeT sRu 87

(A) Hypothyroidism gTSUI-4IaRTS e
(B) Hyperthyroidism BTSIR-UTaRTZ ST
(©) Goitre HaT

(D) None of the above G‘mi?ﬁ TS I8

Correct Answer Answer Description

B Hyperthyroidism is the condition that occurs due to excessive production of thyroid hormone by the thyroid gland.

YTRTES U ¥ UTIR1gS BIAH & SifaTd & BRI BRWR- YRRISSSH i T deT gt 31



Question No 136

Marks: 1.33 Minus Marks: 0.44

The control and regulation of the actual thyroid activity in humans is done by-

oM § UTeRTsS U Bt aRafae fharait o1 fsr 3iR fafraee fead gri fvar s 82

(A) Pituitary gland ﬁ{qﬂﬁ[

(B) Hypothalamus HERIB R

(O) Both A and BT A 3R B

(D) None of the above 3"1@3?‘[ B PR el

Correct Answer Answer Description

C The hypothalamus and the pituitary gland are the main controls that regulate the actual thyroid's activity. The activity of the thyroid gland
is regulated by thyroid-stimulating hormone (TSH), also called thyrotropin. TSH is released from the anterior pituitary in response to
thyrotropin-releasing hormone (TRH) from the hypothalamus.

g B UfRTEs 3 3 ardfas st & o TU 3 grudeny R tgy Uiy gr1 i faar wmar 81 wiaRigs Uiy @t fmarfhadr
YRRIZS-JASH SIAM (TSH) GRT AR 81t B, 1 UiaRie o a1 ST § 1 STeuiey I Jfad UTeRieio-fAute gTHi (TRH) BT
yfaftear & ap1 digw 3 F TsH wifdd gt g1

Question No 137

Marks: 1.33 Minus Marks: 0.44

An 1Q of 100 in a child denotes-

e 7= &1 100 ST (STEH) TERid a1 -

(A) The performance of the child is below average. T P YR 3NTd I FH B

(B) The performance of the child is above average. WWW Khieroke) W%I

(C) The performance of the child is equivalent to average. ﬁﬁﬂ@h m%w&‘lél
(D) The performance of the child cannot be better. a@mu@ﬁmqﬁa‘rw%

Correct Answer Answer Description

C 1Q stands for intelligence quotient. Supposedly, it is a score that tells one how ‘bright’ a person is compared to other people. The average
1Q is by definition 100; scores above 100 indicate a higher than average IQ and scores below 100 indicate a lower that average Q.

TS 1 AT gl A B 1 I8 Ub WhR €, Sl % T8 SaTell & o DS sfey, 3 sfaaral b ol & feba agfg aren 81 siiga eisey,
?m%o%uﬁuﬁaﬁmw%lsﬂﬁwNWWWeﬁﬂae{r&aq@lmmﬁw1oo®=ﬁ%raﬂaﬂwﬁwsﬂ§aqﬁﬁuﬁ?mﬁa%
|

Question No 138

Marks: 1.33 Minus Marks: 0.44

Arrange the following civil and tribal uprisings of colonial era in chronology of their genesis :

1. Revolt of poligars

2. Diwan Velu Thampi rebellion
3. Kittur uprising by Chennamma
4. Santhal uprising

Select the correct option -
Sl wra & fed fafta TrTies Td S RIgie! &1 S YRY & SIamhAIuR aiyd 3 :

1. TR g
2. far agurh &1 fagie
3. T gRT R fagie
4. Turel fage

T e B -

M1,234
(B)4,2,3,1

03124



(D)2,1,4,3

Correct Answer

A

Answer Description

The correct sequence is Option A.

Revolt of poligars - 1799

Diwan Velu Thampi rebellion - 1808-09
Kittur uprising by Chennamma - 1824
Santhal uprising - 1855-56

FIAGHIER T pH fabed A B

e fagig - 1799 8.
dar gy H1fagls - 1808-09 8.
TR fasie - 1824 %,
TuTet fagg - 1855-56 3.

Question No 139

Marks: 1.33 Minus Marks: 0.44

Consider the following statements about Ulgulan rebellion :

1. The movement was led by tribal leaders Siddhu and Kanhu during 1899-1900
2. The movement happened against thikadars(revenue-farmers) and merchant moneylenders with the help of tribals and jagirdars.

Which of the above statements is/are correct?

IeTer fAgie & weu # Fafared syl R ffar &3 -

1. 39 TG BT A, ST FaT Rige 3R H1g A 1899-1900 F SRM faT|
2. U8 G SHERI RToRA-FIHY) 3R Ye@R-HTorH! & favs Sefod ok SRiRERY &t Temdr I g |

S § -1/ BU e /87

(A) 1 only Had 1
(B) 2 only Had 2

(C) Both 1 and 2 1 3R 2 31
(D) Neither 1, nor 2@l 1,78 2

Correct Answer

D

Answer Description

Ulgulan or Munda Rebellion is one of the prominent 19th century tribal rebellions in the subcontinent. Birsa Munda led this movement in
the region south of Ranchi in 1899-1900. The ulgulan, meaning 'Great Tumult', sought to establish Munda Raj and independence. The
movement happened against thikadars(revenue-farmers), jagirdars and merchant moneylenders with the help of tribals. Thus, both of the

given statements are incorrect.

IA[eH a1 HeT fagie 19 wrdredt # URd H gU TR wei fagigl § | U 1 1899-1900 3. & foRw He1 gRI 9 sficia &1 3@ I &
afor & & o T | Iegad (-1 Biare) H HST IS B RITYAT ST 7T UT| g SMiela ol SHerdl b1 Terdr ¥ SHert
RTSTG-PH YD), AHIRERT T YR TSI & (365 foram 71 AT | S0 USR, UHATd i1 8 U 3 & |

Question No 140

Marks: 1.33 Minus Marks: 0.44

Which of the following newspapers was published by Dadabhai Naoroji?
ol & & 5 THER-U & UHIRH 3 grerHTE AR Geifid 2

(A) Voice of India aT3¥ 3t SfEam
(B) Friend of India Trg 3iTts Sf&ar
(C) Indian Nation E'%'JF{#QH
(D) Indian Review §f&aH ey

Correct Answer

A

Answer Description

Among the given newspapers Voice of India was published by Dadabhai Naoroji.

YT GHMER-TET | SIGTHTS AR gRT ‘afsq 3t fear o1 yebrer faar mar ot



Question No 141

Marks: 1.33 Minus Marks: 0.44

Consider the following statements about vernacular Press Act 1878 :

1. The action of the magistrate was final and no appeal could be made to a court of law.
2. To get exemption from the Act, a vernacular newspaper was required to submit proofs of the paper to a Government censor.

Which of the above statements is/are correct?
FAlpeR U Tae, 1878 & deH & Fafafed syl R faar &Y :

1. IR ot rfaTet oifom Bt ot SR Tu% e fareit srarad & s et &t o Tt o
2. 39 SHfFEH & Fe UId T4 & o8 Ua <= THaR-U3 31 WHR! e (@R) & G0 U7 & T Tgd B SH1a%ad 3|

STged & ¥ HH-T1/8 FYUF TG /37

(A) 1 only Had 1

(B) 2 onlyaﬁﬁz

(C) Both 1 and 2 1 3R 2 Y

(D) Neither 1, nor 2@l 1,78 2

Correct Answer Answer Description

C The Vernacular Press Act (VPA) 1878 was designed to 'better control’ the vernacular press and effectively punish and repress seditious
writing.The provisions of the Act included the following: 1. The district magistrate was empowered to call upon the printer and publisher
of any vernacular newspaper to enter into a bond with the Government undertaking not to cause disaffection against the Government or
antipathy between persons of different religions, caste, race through published material; the printer and publisher could also be required
to deposit security which could be forfeited if the regulation were contravened, and press equipment could be seized if the offence re-
occurred. 2. The magistrate’s action was final and no appeal could be made in a court of law. 3. A vernacular newspaper could get
exemption from the operation of the Act by submitting proofs to a government censor.The Act came to be nicknamed “the gagging Act”.

FATHER U Tae, 1878 HY =14 U TR IgeR FE=107 qUT IR TRe & THTd =0 & gi % g Jar fvan man an) 59 siftfam o
froforiad waum & 1. far aforge &1 a8 i < 18 2R i g el off it TueR-u3 & guo SR USRI &) g 39N S1vg LR
Tl B, orads dgd S U8 aa ST gidT 4TI TR & v Sidy a1 fafia el ud wnfoal & il & o9 fagy o aret araeh ueifia
T B, WY € Y5 3R YT Bl 9 Tead B S iy o S et gt o S o Sufad e a7 Seciue 819 WR ofed R ot ol &t
TUT 3ORTY B GARIGRT G IR O STV oI 6T o Thdl A1 2. AT 3} rfaret sifad gielt ot oot 50 favg 318 srdia Te ot o
Farat A1 3. 39 A T Fe U B & oY T R THRER-UF &1 SR S (@) & G0 0F & Y Tdd B 31ad 41 39
ST B He g B aran ifdfe @ff te) wer

Question No 142

Marks: 1.33 Minus Marks: 0.44

Who won the best actress award in 66th National Film Awards announced in August 2019?

3T, 2019 H YT 663 T fhed R & G931 1 R forg Sitar

(A) Samantha JTHYT

(B) Keerthy Suresh ﬁw
(C) Ramya Krishnan ITRIT W
(D) Kangana Ranaut Wﬁﬁ

Correct Answer Answer Description

B Actress Keerthy suresh won best actress award in 66th National Film Awards for the telugu film Mahanati.

663 T frer e R # S i Ge=1 3 A bt wemdt & forg wday i &1 Qe ot

Question No 143

Marks: 1.33 Minus Marks: 0.44

Harmeet Rajul Desai, who won the Arjuna Award 2019 is associated with which sport?

3T 3aTE 2019 W [P BT A TS b B I ey &7

(A) Chess RTd<sl

(B) Shot-put RITe-4e

(C) Table tennis T d
(D) Hockey BidbT



Correct Answer Answer Description

C 2019 Arjuna Award winners: Ravindra Jadeja (cricket), Poonam Yadav (cricket), Mohammed Anas Yahiya (athletics), Gurpreet Singh Sandhu
(football), Sonia Lather (boxing), Chinglensana Singh Kangujam (hockey), S Bhaskaran (bodybuilding), Ajay Thakur (kabaddi), Anjum
Moudagil (shooting), Bhamidipati Sai Praneeth (badminton), Tajinder Pal Singh Toor (athletics), Harmeet Rajul Desai (table tennis), Pooja
Dhanda (wrestling), Fouaad Mirza (equestrian), Swapna Burman (athletics), Sundar Singh Gurjar (para sports-athletics), Pramod Bhagat
(para sports-badminton), Simran Singh Shergill (polo)and Gaurav Singh Gill (motorsports).

2019 3o REHR AT ST ISR § ;
dig TS (frobe), T TTed (Rhdve), HigTG SN A1feaT (Qudifea), TRy Rig Hey (@eaie), Tfvar andR @ifedm, e Rig Hem

EyRea), Yo g ToR (OR1 Wicy-wydfea) 3R TRa Rig fia @exwdicy) |

Question No 144

Marks: 1.33 Minus Marks: 0.44

Which country's Prime Minister won the Nobel Peace Prize 2019?

5 <=1 & TTHER A 2019 &7 Al ifd REBR, Sian?

(A) Eritrea Eﬁﬁ}ﬂ

(B) Ghana 14T

(C) Ethiopia 3o
(D) Djibouti foTgit

Correct Answer Answer Description

C The 2019 Nobel Peace Prize was awarded to the Prime Minister of Ethiopia Abiy Ahmed "for his efforts to achieve peace and international
cooperation, and in particular for his decisive initiative to resolve the border conflict with neighbouring Eritrea.”

T 2019 &1 T i REHR 3G F gerwH sreft srerg $ 2ifa SR SRS Fedi $1 Iuarss 7q S ware, fady &9 3 ugrht
Az g8ifear & wry e fdare &l 5@ S 3 S! FAuifass ugd & fare ueH fasan ma

Question No 145

Marks: 1.33 Minus Marks: 0.44

Abhijit Banerjee won the Nobel Prize 2019 for Economics for his contribution towards which field?

Jftrolia Teif 3 srfemed & fR1T 2019 &7 0 REBR fod HRIES b U Aiver & forg siar

(A) Development Economics g srferawn
(B) Poverty Alleviation TR_iat SHAT

(C) Fiscal Policy IISI IS Hifd

(D) Monetary Policy A Hfa

Correct Answer Answer Description

B The Sveriges Riksbank Prize in Economic Sciences in Memory of Alfred Nobel 2019 was awarded jointly to Abhijit Banerjee, Esther Duflo
and Michael Kremer "for their experimental approach to alleviating global poverty".

S T, 37! Tell TRR ST 3R AISHd HFR B! Ggad U I T8 2019 BT R BT Tad [REBR (KoY R urget 34
THIFIHD AL 7 FHRY 16 dps Faw) Afye Fefar & ot am gq 3% uriifie Iurm 3 fore uer faar ma

Question No 146

Marks: 1.33 Minus Marks: 0.44

Consider the following statements with reference to ICC Awards announced in January 2019 :

1. Virat Kohli won three awards-Sir Garfield Sobers Trophy for ICC Cricketer of the Year, the ICC Men'’s Test Player of the Year and the ICC ODI Player of the Year.
2. He is the only second cricketer to do so.

Which of the above statements is/are true?
A, 2019 B it s ReHRI & o & Fufiiad syl iR far &%

1. fRTe igelt A diF REHR S - SEE avf &1 firdher 3 W TRGIE Gy ro!, SMedi) 9y &7 vy o faenst ok smseieht af &1 tefiady siemdia
faarsh
2. 98 Q91 B A1) ol g hebex B



I H ¥ BH-T1/A HU T8 8/87

(A) 1 only Had 1

(B) 2 onIyWZ

(C) Both 1 and 2 &1 1 3R 2

(D) Neither 1, nor 2@ 1,78 2

Correct Answer Answer Description

A Indian captain Virat Kohli in January 2019 became the first cricketer to make a clean sweep of individual honours in the ICC annual
awards, claiming the Sir Garfield Sobers Trophy for ICC Cricketer of the Year, the ICC Men's Test Player of the Year and the ICC ODI Player
of the Year awards in the same year besides being named captain of the world body’s all-star teams.

YR fordhe FH faRTe Higeh Had), 2019 F MR & arftfer qRewRT & STt fhdex 3iit & TR 8 W Rwice e e,
SR TN 1 T oxe FRATTS! a1 S af BT T faaiiy SIS fEars! (RRPR S T gl au H i1 MY SAfRATd [REPR Siia
e v fbdhex s

Question No 147

Marks: 1.33 Minus Marks: 0.44

With reference to the ICC Cricket World Cup 2019, consider the following :

1. Rohit Sharma scored 6 centuries in this edition.
2. Rohit Sharma broke the Sachin Tendulkar's record of scoring most runs in a single edition of ICC World cup.

Which of the above statements is/are correct?
STSIRA fordpe sy %U, 2019 F Ted & Fafifed R AR &%

1. e TAT ¥ 3T THR H 6 T T
2. Afed 2wt 7 SERh fay wu Pt & ThRu § walfie 37 9 & i dgam? & Rars & asil

Iuad § & HH-T1/A FUF TE /87

(A) 1 only Had 1

(B) 2 only %ad 2

(C)Both 1and 2 G 1 3R 2

(D) Neither 1, nor 2 ¥ @l 1, 7§ 2

Correct Answer Answer Description

D Statement 1 is wrong.
Batting records of ICC Cricket World Cup 2019:
Highest run scorer - Rohit Sharma (648 runs)
Most centuries by a batsman - 5 - Rohit (3 in a row)
Statement 2 is also wrong.

Sachin Tendulkar currently holds the record for most runs in a single edition of a World Cup. He recorded this unique feat during the
2003 World Cup when he amassed 673 runs in 11 matches at an average of 61.18.

z;r;l- 198 TR 21 S fobabe f3% &Y, 2019 % THE SeoiaTol Repigd 39 TR ¢ : Faifdes IH-fed AT (648 ), Faifies Wefeb- el
© 1

FY- 2 ff et 72T B 1 SnSRit fbdbe iy & & e & Wl  Halfies 3 59H o1 Reprd ont oft wfem dgaaw & 9w 7, e u
IJUaiar 2003 & 3y FUH 11 A T 61.18 BT 3G Y 673 I TR IR Bt 2|

Question No 148

Marks: 1.33 Minus Marks: 0.44

Who originally wrote the book 'A Gujarat Here, A Gujarat There', recently in news?

B 8 ¥ GHERT # 38! Te T ToRTd [39R, T IoRId $3R’ Jad: fhan g 87

(A) Krishna Sobti Wm

(B) Salman Rushdi I@HTT ST

(C) Amitav Ghosh Jfidre Oy

(D) Nayantara Sahgal TITdRT €8T

Correct Answer Answer Description



A A Gujarat Here, A Gujarat There is english translation of Krishna Sobti's autobiographical novel ‘Gujarat Pakistan Se Gujarat Hindustan’,
translated from Hindi by Daisy Rockwell.
TIERI fGTR, TSR R O TS & SMABUTHSD 54! SN ORI UM U ToRTd R’ BT Suit Jidbad gRT T 7T Sieit
AT 31

Question No 149

Marks: 1.33 Minus Marks: 0.44

Who wrote the book 'My Seditious Heart ', recently in news?

BT 8 H IR B W qas s fsfeay grd & frae foran g2

(A) Krishna Sobti ST Hiadt
(B) Salman Rushdi A BT
(C) Amitav Ghosh 3iframa oy
(D) Arundhati Roy 3rsyfa I

Correct Answer Answer Description

D 'My Seditious Heart' is Arundhati Roy's new essay collection. It was published in June 2019.

g AT B¢ @t AT Sl I &1 a1 ey WU §1 T8 S, 2019 W HBIIRId g3 ATl

Question No 150

Marks: 1.33 Minus Marks: 0.44

Recently World Biofuel Day was observed on :

BT €t & fay S SeM fiag e aman mam

(A) 10th August 10 3ITRd
(B) 11th August 11 3TT¥d
(C) 9th August 9 3fT&d

(D) 20th August 20 3fTT&d

Correct Answer Answer Description

A World Biofuel Day is observed every year on 10th of August to create awareness about the importance of non-fossil fuels as an
alternative to conventional fossil fuels and highlight the various efforts made by Government in the biofuel sector.

ﬁ%{éaéa%ﬁaﬁuﬁaﬁ10sﬂﬂaaﬁuﬂuﬁaﬁa@ﬁﬁ%ﬁm%mﬁﬁ%ﬁméﬁ%m%aﬁﬁmwmﬁg
T S |



